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1 (10:55A.M)) 1 MR. DOHERTY:
2 CHAIRMAN: 2 A.Asl understand it, we're doing aregression
3 Q. Wadl, good morning everybody. | think have we 3 over different measurement periods, the first
4 agreed on the schedule? They all know what 4 being aten-year period ending December 2012
5 thelineupis? 5 and then afive-year, then aten-year ending
6 MS. GLYNN: 6 June 30th, 2012, then afive-year ending that
7 Q.12:45. 7 same period. In each of those cases, certain
8 CHAIRMAN: 8 values have been excluded within the
9 Q. 11to 12:45 and then we're going to break for 9 measurement period.
10 ahalf anhour? Isthat right? And then 10 STAMP, Q.C.:
11 we'll go from 1:15 to 2:45. Is that 11 Q. And so this is describing a regression
12 acceptable? 12 exercise of some sort, these four lines?
13 JOHNSON, Q.C.: 13 MR. DOHERTY:
14 Q. Yes, Mr. Chair. 14 A That'sright.
15 STAMP, Q.C.: 15 STAMP, Q.C.:
16 Q. A 15-minute break there. 16 Q. Andit’'sonly four regressions? Isthat what
17 CHAIRMAN: 17 we're seeing?
18 Q. Okay, 15 minutes. | mean, it'supto you 18 MR. DOHERTY:
19 crowd. Don't bother me. So, okay. 19 A.Yes, this isfour regressionsand the four
20 MS. GLYNN: 20 regressions have then resulted with an
21 Q. Our 15 minutes usually turninto a bit longer, 21 estimate of trend.
22 so we'll strive for the 15. 22 STAMP,Q.C.:
23 CHAIRMAN: 23 Q. Okay. So, why would the exercise limit itself
24 Q. Yes, okay. So at the very latest then, 1:15. 24 to four regressions?
25 MS. GLYNN: 25 MR. DOHERTY:
Page 2 Page 4
1 Q. Absolutely, yes. 1 A.ldon't know.
2 CHAIRMAN: 2 STAMP, Q.C.
3 Q. If everybody isready, sooner. And | believe, 3 Q. When FA does regressions, when and how do you
4 Mr. Stamp, we are continuing with you, sir. 4 determine that a data point is an outlier?
5 So, you're on. 5 MR. DOHERTY:
6 MR. SHAWN DOHERTY, RESUMES STAND, EXAMINATION-IN-CHIEF BY 6 A.We would do a regression, anayze the
7 KEVIN STAMP, Q.C. (CONT'D) 7 residuals and then determine whether or not we
8 STAMP,QC: 8 felt any of the data points could potentially
9 Q. Thank you, Mr. Chairman. Yes, Mr. Chairman, 9 bean outlier. We would test to see the
10 Commissioners, if | can have Mr. Doherty go 10 results then without that data pointin. If
11 back to where we |eft off yesterday, which was 11 the exclusion of that data point significantly
12 caow-1and the responseto it, which isthe 12 or materially changed the regression answer,
13 Oliver Wyman report, | guess, associated with 13 inthis caselooking for a trend, then we
14 benchmark and what we were looking at at that 14 would deem that outlier to be influential and
15 time was the top of page six in that document. 15 wewould includeit asan additional model
16 WILLIAMS, Q.C.: 16 under consideration.
17 Q. I think it's page seven. 17 STAMP, Q.C.:
18 STAMP,QC: 18 Q. And so how doesthat approach that you just
19 Q. Intheprinted volume, it' ssix. Sorry. Mr. 19 described for facility compare with the
20 Doherty, just want to come back to this now. 20 approach we're seeing here in the four lines
21 So what's your understanding of these four top 21 that are on top of this page?
22 lines here? What isgoing on here when they 22 MR. DOHERTY:
23 outlinewhat their doing here from certain 23  A.Based onthis, it appears that the exclusion
24 periods and certain exclusions and giving the 24 or the determination of what constitutes an
25 percentages? What is that? 25 outlier occurs beforethe datais actually
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1 reviewed, before a fit is determined, 1 undertaken. We can certainly -- you can
2 including the values, and as| look through 2 certainly test the result of that in simple
3 the complete report, because this same 3 regression.
4 approach seems to be replicated, my assumption 4 STAMP, Q.C.:
5 goinginisthat in each casethere arefour 5 Q. How would you describe the approach?
6 regressions completed and the time period is 6 MR. DOHERTY:
7 predetermined, either being ten years or five 7  A.lwould describe itas | see it, as very
8 years, athough it shiftsin the two sets, and 8 mechanical. As| mentioned yesterday, it's
9 that the outliers or the data points that are 9 very efficient because it is mechanical. You
10 going to be excluded within the data you have 10 have thedata. You decide beforeyou do
11 availablein that ten or five-year periodis 11 anything with it what the highs and lows
12 predetermined and excluded before the analysis 12 you'reremoving. So you'veidentified the
13 is completed. 13 data pointsyou're including. To do the
14 STAMP, Q.C.: 14 regression, it' sacalculation. Likel said
15 Q. So does-- how do we know they’re outliersif 15 yesterday, you can doitin Excel. There's
16 you exclude them before you do the analysis? 16 regression functionsin Excel. You can do it
17 MR. DOHERTY: 17 directly by justdoing it from the data
18 A.ldon't. Id beinterested to understand how 18 itself. It'savailable inany dtatistical
19 that works. 19 textbook on how to do that.
20 STAMP, Q.C.: 20 STAMP, Q.C.:
21 Q. Wadll, doesn’t -- | mean, if you exclude two on 21 Q.What risk might you see be evident in that
22 the upper side and two on the lower side, | 22 approach, that mechanical approach?
23 mean, in every period won't there be two like 23 MR. DOHERTY:
24 that? 24 A.Wdll, you're excluding data points. So, |
25 MR. DOHERTY: 25 think any time you start off taking out data
Page 6 Page 8
1  A.Yes inany dataset, unlessall thevalues 1 points -- again as | mentioned yesterday with
2 are equal, there will be a high and there will 2 sample sizes, if you reduce your sample size,
3 bealow. That'sthe nature of numbers. 3 it makesit more difficult to get comfort that
4 STAMP, Q.C.: 4 your estimateis as good asit could be if you
5 Q. Doeshaving ahigh or having alow or having a 5 included all thedata. There are tests that
6 number of highs, a number of lows, make those 6 you can doto determine whether or not it
7 outliersin your opinion? 7 might be better if you excluded some data. |
8 MR. DOHERTY: 8 don’'t think you need to dothat before you
9 A.No. Any dataset, again, if the numbersare 9 start the analysis.
10 not all the same, then every dataset hasa 10 STAMP, Q.C.:
11 high and hasalow. That doesn’'t meanit'sa 11 Q. But if you have four formulas or four
12 statistical outlier. 12 methodol ogies that you adopt to do this, the
13 STAMP, Q.C.: 13 ten and ten and five and afive, how do you
14 Q. Okay. 14 recognize whether there's other data that
15 MR. DOHERTY: 15 might be influential ?
16  A. Asfar as|’m concerned. 16 MR. DOHERTY:
17 STAMP, Q.C.: 17 A.Youdon't. Again, theperiods seemto be
18 Q. Butthat’swhat’'s being done here? They're 18 predetermined, so, aten-year period and a
19 being treated as statistical outliers? 19 five-year period. That may overlap. Again, if
20 MR. DOHERTY: 20 you look at the data, you're analysing the
21  A.Notthedata point itself being ahigh or a 21 data and data saysduring that period there
22 low, but the change -- the exclusion is 22 may be two different trends, one that happens
23 dependent on the change and again, | don’'t 23 here and then another one that happens in a
24 know how you would determine that before but 24 different spot, doing thisapproach doesn’t
25 this is an approach that appears to be 25 get you to be able to see if they’ ve changed.
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1 I’m not sure -- for me, trying to determine if 1 A.l am replicating the regression that was
2 there has been a change over a period of time 2 completed.
3 or if there’' s been multiple changes in trends 3 STAMP,Q.C.:
4 over a period of time, | don’'t see thisas 4 Q. Allright. So, 1 don’t know if we need to
5 identifying those changes. 5 enter those specifically, but 1’d ask that
6 STAMP, Q.C.: 6 they be entered.
7 Q. Okay. Now did you afew daysago prepare a 7 MS. GLYNN:
8 series of, | guess, analysis of the Oliver 8 Q. They've beendistributed and they are now
9 Wyman approach in this area? 9 officially on record.
10 MR. DOHERTY: 10 STAMP, Q.C.:
11 A. |l would describe it more as | replicated this. 11 Q. Okay. So they’'retreated as exhibits, as|
12 STAMP, Q.C.: 12 understand it. All right. If you could turn
13 Q. Okay. 13 then, Mr. Doherty, to sD No. 1, thefirst of
14 MR. DOHERTY: 14 those group of four and tell us what you've
15 A.Again, regression is calculating values. If | 15 done here?
16 have thedata and | know which ones were 16 (11:15A.M))
17 excluded, | know the datathat was put into 17 MR. DOHERTY:
18 the calculation, so | can replicate it. | can 18 A.Yes. Sowewent throughthe general model
19 determine the R sguared because it's a 19 yesterday, so I’'m not going to describe all
20 formula. | can determinethe adjusted R 20 the stuff that’s embedded in our approach to
21 squared because it's a formula. | can 21 this. | just want to highlight a couple of
22 determine the P values and the T statistics 22 things. So on theright, there's a series of
23 because they’re all formulas. So giventhe 23 columns. The heading isloss cost values.
24 data at the back of the report and assuming 24 Thefirst one saysfrom valuation. That'sa
25 that | typed in the values correctly, | can 25 standard title that we have in our model, but
Page 10 Page 12
1 replicate what they have. The resultsthat | 1 thisis actualy, you know, metypinginthe
2 got out when | took the ten-year period and | 2 valuesthat | found in the back of the Oliver
3 excluded thetwo highs and lows based on 3 Wyman report that are the loss cost as per the
4 change, | got the minus 1.7 trend. 4 Oliver Wyman report. The second column isthe
5 STAMP, Q.C.: 5 fitted model. So inthisparticular case,
6 Q.Okay. Socanl just ask you to turn then -- | 6 I'veused thelatest ten yearsonly. |'ve
7 think, Mr. Chairman, Commissioners, we have 7 excluded where the change, thetwo highest
8 provided four documents. | think they’ ve been 8 changes and the two lowest changes, as |
9 identified as SD-1, SD-2, SD-3 and SD-4. So 9 understand the description in the report.
10 they’re -- | think everybody has those. 10 STAMP, Q.C.:
11 MS. GLYNN: 11 Q. Isthat thefirst page with the Ysbelow, at
12 Q. They'reofficialy on the record. 12 or below H or '03 H1?
13 STAMP, Q.C.: 13 MR. DOHERTY:
14 Q. And have you got those available to you? 14  A.Yeah. Sothefirst -- yeah, that first column
15 MR. DOHERTY: 15 excludes-- exclude data point, yesor no.
16 A.ldo,yes. 16 Thefirst five years of data-- likeoursisa
17 STAMP, Q.C.: 17 20-year model. Thefirst five yearsare not
18 Q. And did you prepare those documents? 18 provided in the report, so they're
19 MR. DOHERTY: 19 automatically excluded and that’s why there's
20 A.ldid, yes. 20 zeros in there from -- it’s from valuation but
21 STAMP, Q.C.: 21 it'sreally from the Oliver Wyman report. The
22 Q.Okay. And these areyour -- how do you 22 next several are excluded because they aren’t
23 describe those again? These four documents, 23 in the most recent ten years and then beyond
24 areyou replicating? 24 that, we identify whether they’ re excluded or
25 MR. DOHERTY: 25 not based on the change, and if you just dlide
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1 over alittle bit to theright, you can see 1 loss cost. Now the selected model 1oss cost,
2 I’ve calculated the percentage change. So, 2 the trend is minus one and a half. You only -
3 for the one period, it's not the change from 3 - inthis instance, we're only looking at a
4 the value immediately before it, but one 4 relationship between loss cost and time and so
5 beforethat. Soit’sthe change from H1 to H1 5 | only need to parameters to describe aline.
6 or H2 toH2. AndI'vehighlighted in that 6 One describes the slope of the line. The
7 column where within the ten-year period the 7 other one describeswhere it hitsthe axis
8 highest two changes and the lowest two 8 when X is zero. And so, under the
9 changes. So maybeif you scroll up alittle 9 coefficient, you'll see one thing, it's
10 bit, you'll seeminus 40 is highlighted. 10 intercept is 40.869 and then all yearsisthe
11 Minus 46 is highlighted. Plus 65 is 11 only other thing you' ve got. Those are the --
12 highlighted and plus 57 ishighlighted. So 12 those two numbers describe the red line that
13 based on those calculations, that’swhat | 13 you see under fitted. Under the column that
14 determine, as | understand the methodol ogy 14 says selected coefficient, the two values that
15 employed, would be the data points that would 15 you see there describe thered line that’ s in
16 be excluded in that data set. 16 the other graph where the slope of thelineis
17 STAMP, Q.C.: 17 minus 1.5 and | had to calculate the intercept
18 Q. And did you run aregression then on this? 18 because| got the dope, but | don’t know
19 MR. DOHERTY: 19 whereit’ s going to meet up with the line, so
20 A.Yes | did. 20 | had to figure out some way to sit it over
21 STAMP, Q.C.: 21 top of the data, | guess, for lack of a better
22 Q. Isthat the way to describeit? 22 word. | guessthere'safew different ways
23 MR. DOHERTY: 23 you could do that. Welook at -- when we're
24 A.Yes. 24 trying to set data on top of other data, we
25 STAMP, Q.C.: 25 look at two different approaches. Generally
Page 14 Page 16
1 Q. Okay. And what did you do? 1 option one -- you'll seeit here. We have it
2 MR. DOHERTY: 2 highlighted in that red box. Option oneis
3 A.Soif wemoveto the page two in this exhibit. 3 that over the period that you're reviewing,
4 So the first thing off to theright, it's 4 you set the loss cost averages the same. So
5 highlightedin yellow. It'scalled fitted 5 we would use agoal seek to have the selected
6 value annual pass and future. You'll see that 6 model comeup with -- inthis case, the
7 that’stheminus 1.7. | believe that’sthe 7 overall average over that period is 318.92 and
8 same trend that Oliver Wyman determined. In 8 so wewould do a goal seek to make the
9 that same block, you'll see previous selected 9 selected model havethat same average loss
10 isminus two and ahaf. That was Oliver 10 cost, 318.92, and so that’ s the result of the
11 Wyman’'s previous selection. The selected 11 exercise. You can seethe differenceis zero.
12 annual | put in at minus one and a half 12 And| did that by adjusting the intercept
13 because that's the end result. They've 13 coefficient and it ended up being 36.105. And
14 determined that the trend is minus one and a 14 you'll see that each time | changed the
15 half, so I've included that, and | did want to 15 period, | have to change how that sitson. So
16 include that just so you could see that with 16 while the slope isaways going to be minus
17 this methodology, you can in fact select 17 one and a half percent, the value is going to
18 coefficients that are different than the 18 change because | haveto -- I’'m trying to fit
19 fitted coefficients, which is what I’ve done 19 it over top of the same period, so I’'m doing a
20 here, and | will describe how | fit that minus 20 liketolike. Butinthis case, so|’vegot
21 one and a half over top of the data because as 21 results. I’ve gottwo charts, two fitted
22 you'll -- if we scroll down alittle bit, 22 value sets, one that’s fitted through the
23 you'll see the two charts. One has the actual 23 regression; onethat’s fitted through the
24 data and the fitted model data and the other 24 final selection of atrend of minus one and a
25 one has the actual data and the selected model 25 half percent.
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Page 17 Page 19

1 STAMP, Q.C.: 1 1.7 percent just due to the randomness of the
2 Q. Andwhat did you -- what does this regression 2 data and based on our criteria, we would then
3 analysis then -- or what does the data show in 3 say there’ s not enough information here for us
4 terms of these conventional, | guess, numbers 4 to reject the hypothesisthat therendisin
5 that you look at, the R squared, the adjusted 5 fact zero, not minus 1.8 percent. Wewould
6 R squared, Pvalues and so onthat you've 6 also not stop there. Wewould also go down
7 spent time talking about already? 7 and look at the additional charts down below
8 MR. DOHERTY: 8 and maybe if you can just scroll down, there’s
9 A.Yeah, sofrom this, againthe coefficient 9 other residual tests. There’saresidual plot

10 determination of the fit, the intercept and 10 there. 1t'sgoing to be achallenge to look

11 that all years coefficient, that's a 11 at this one because we' ve excluded the earlier

12 mechanical exercise. That just gets spat out. 12 data. They're all showing as significant

13 So, we want to look at whether or not we would 13 variances from thered line. All those dots

14 accept thisas amodel. That is that minus 14 describe the distance of the individual actual

15 1.7 percent trend seems to describe the 15 point from the redline and you know, we

16 relationship between loss cost and trend or 16 didn’t try -- in this case, because we're only

17 loss cost and time. And so if wejust lide 17 focused on theten-year period, we weren't

18 up a little bit, therewe go, we'vegot a 18 trying tofit al of the data. So, the

19 number of the regression statistics and so, 19 earlier part we were seeing two data points

20 under the block that's called fitted trend 20 that are significantly higher than the line,

21 structure regression statistics, the R squared 21 we weren't even trying to fit it. So | would

22 IS, inthis case, 11.75 percent. So what it’s 22 ignore those. Now thisis after we've aready

23 saying is that the regression that I’'ve 23 excluded data, soit’s kind of tough to

24 determined describes about 12 percent of the 24 determine whether or not there would have been

25 variancein the loss cost over the period of 25 outliers had you not removed the outliersto

Page 18 Page 20

1 the datathat | chose. Not the period that | 1 begin with. Inthis particular case, two of
2 chose, but the data| chose, because | didn’t 2 the outliers, the two high outliers, asyou
3 include al the datain that period. When | 3 might imagine, because we're dealing with data
4 adjust for the number of parameters, and 4 that’ s after 2003-1, are those two points, you
5 there' s only one parameter, when | adjust for 5 know, right above 2007 -- | forget if it's
6 the parameter in here, the adjusted R squared 6 2007, H1 or H2, and then 2011, 2011 H2. It's
7 isfive percent. Right below that, you'll see 7 those two peaks that you see out there. And
8 runs test results. The runs test on the 8 if we didn’t have the exclusion aready, the
9 residuals here indicatesthat the residuas 9 analysis might indicate that those are

10 are not random. So we would look at that and 10 candidates for outliers. Theonelow is--

11 say, okay, I’ ve got a poor original measure of 11 one of the two lowsisthe 2005 and it’s that

12 fit. The R squared tells us how much isbeing 12 one that kind of drops down, and so, you know,

13 described. It's not telling us whether or not 13 when you're looking at it, you might think

14 the coefficients areunbiased. It's not 14 yeah, that seemsto bealow. The other low

15 telling us whether or not the predictions or 15 iIs2003 Hlandit's abovetheline and the

16 the projected values are unbiased. We haveto 16 reason it's excluded is becauseif you see

17 look at the residuals for that. So our first 17 that really high peak, that’sa 2002 H1, it's

18 residual tests: are the residual runs random? 18 the loss cost is 700, and the next data point

19 No, they’re not. Then we would look at the P 19 for H1is 2002 H1. It'sa significant drop

20 value and again, in this case, for al years 20 from that very high level. | don’t think it

21 of that trend, it’'s saying that the Pvalueis 21 necessarily isan outlier in the onset. It

22 16 and a half percent, so that’s effectively 22 certainly is significantly below that high

23 saying if the trend redly is zero, then 23 point of 700, but I’'m not sure | would

24 there'sa 16 and a half percent change you'd 24 identify it as an outlier and | do findit,

25 get atrend estimate of the magnitude of minus 25 you know, a bit peculiar that you drop a
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1 number because it'salow and yet it’ s sitting 1 location or the slope of the line?
2 above your fitted line. But again, | mean, | 2 MR. DOHERTY:
3 would certainly have started without any 3 A.No, becausewe only used ten -- the most
4 outliers and then done my outlier analysis at 4 recent ten-year data points.
5 that point in time. The other part isdown 5 STAMP, Q.C.:
6 below, you can see at the very bottom there's 6 Q. Soyou can actually hold your hand over part
7 aloss cost QQ plot. Idedly, your residuals 7 of that graph and ignore it becauseit’s not
8 when you standardize them like thiswould all 8 part of the analysis or the regression that
9 be on the line. There s alittle bit of curvy 9 Oliver Wyman did?
10 thing there. That's reflective of the 10 MR. DOHERTY:
11 residual runs not really being random and the 11 A. Correct.
12 problem with the randomness in the residuals 12 STAMP, Q.C.:
13 themselves. So, probably at this point we 13 Q. Same with the right-hand graph?
14 would reject this as a model. 14 MR. DOHERTY:
15 STAMP, Q.C.: 15  A. Yeah, theright-hand graph, | mean, the right-
16 Q. Mr. Doherty, in the two graphs, the actual and 16 hand oneisjust aresult. It' s just applying
17 fitted model loss cost graphs and the actual 17 minusoneand ahalf. Soignoreit or not
18 and selected model loss cost graphs, it's 18 ignoreit. 1 don’t -- | wouldn't say that the
19 showing blue, the blueirregular line and a 19 minusone and ahalf came from the ten-year
20 red, | guess, straight line and it’s going -- 20 period, I mean it came from a bunch of
21 | mean, that blue goes back and the red goes 21 different ones. So | would -- I'm not sureif
22 back tolike 1993, soin this regression 22 | could make the same statement, | know with
23 approach that you replicated from Oliver 23 the fitted one, the data that was used. With
24 Wyman’s report, isthat blue data behind 24 the minus one and a half, I’'m not sure you can
25 whatever it was, is it 2003-02 that you're 25 say what data was used to come up with that.
Page 22 Page 24
1 starting from here? 1 STAMP,Q.C.:
2 MR. DOHERTY: 2 Q. Okay. Butinthefirst graph, if | cover over
3 A Yeah, I'm starting from 2003 H1. 3 al of thelines earlier than 2003 H1 -
4 STAMP, Q.C.: 4 MR. DOHERTY:
5 Q. 2003 H1, okay. 5 A.Um-hm.
6 MR. DOHERTY: 6 STAMP, Q.C..
7 A Yeah 7 Q.- thenlI’m looking at really what is the
8 STAMP, Q.C.: 8 location and slope of a red line intended to
9 Q. Sowhen| look at that graph, | seeloads of 9 fit that blue data?
10 data |l guess represented by the blue line, the 10 MR. DOHERTY:
11 blue lines as they move up and down inthis 11 A. Yes, excluding certain data points.
12 graph. 12 STAMP, Q.C.:
13 MR. DOHERTY: 13 Q. Excluding certain data points.
14  A.Yeah 14 MR. DOHERTY:
15 STAMP, Q.C.: 15  A. Three of which are above theline.
16 Q. Sowhy isthat there? 16 STAMP, Q.C.:
17 MR. DOHERTY: 17 Q. Now I’'mgoing to ask Ms. Glynn if -- we had a
18 A.Wsdl, the data is available, so we are 18 sheet come from your office, summary
19 provided, in thiscase inthe Oliver Wyman 19 statistics comparison from Oliver Wyman. Is
20 report, there’ s 15 years of data. So you can 20 that entered as well?
21 go back tol guess 1998-1. | think that's 21 MS.GLYNN:
22 where it goes back to. 22 Q. That hasn’'t been entered yet.
23 STAMP, Q.C.: 23 STAMP, Q.C.:
24  Q.But didthis data that’sbehind 2003 H1, 24 Q.Okay. Didyousee any statistical sort of
25 earlier than that, have any influence on the 25 observations from Oliver Wyman after you did
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1 S1, sD1, SD2, SD3, Sh4? 1 A ltmay be. | wouldwantto see anumber of
2 MR. DOHERTY: 2 different trends. If I'm only going to look
3 A Yes 3 at 15 years, thefirst thing | wanttodois
4 STAMP, Q.C.: 4 look at all 15 yearsand havealook at it
5 Q. Anddidthey -- did that analysis or whatever 5 without any outliersand then | will start
6 it was show some of the R2, adjusted R2 and so 6 doing different periods. | may end up with
7 on values? 7 two periods. Thefirst fiveyears hasone
8 MR. DOHERTY: 8 trend and then the next ten years has atrend,
9 A Yes 9 which presumably the implication here is that
10 STAMP, Q.C.: 10 there are two different trends. The first
11 Q. Anddid thosevalues that were produced by 11 five years which we didn’t bother to model is
12 them match the ones that you replicated? 12 different from the second ten which we did try
13 MR. DOHERTY: 13 tomodel but inthis casg, it's saying the
14 A.Yeah, we might be off onthe fourth decimal 14 second period, whileit doessay minus 1.8
15 place, but yeah, they matched. 15 when | do these data exclusions, but you would
16 STAMP, Q.C.: 16 get that result 16 and a half percent of the
17 Q. So come back to | guess the essential 17 time, just based on the randomness of the data
18 question. In your opinion, how do you 18 itself. So at that point, the model, to me
19 appropriately select or determine that period 19 the regression is saying you can’'t comfortably
20 for regression? Because we have four periods 20 say that the coefficient isnot zero. That
21 selected here inthat -- at thetop of the 21 is, thereis no relationship between loss cost
22 page and the report we were looking at a 22 and time in that latter ten-year period after
23 moment ago, have those four periods selected, 23 you've done this exclusion. | don’'t know what
24 but for you, I'm asking how do you 24 the result would beif youdidn't do those
25 appropriately select a period? 25 exclusionsbecause| didn’t do that. | was
Page 26 Page 28
1 (11:30A.M.) 1 trying to replicate what they did. But on my
2 MR. DOHERTY: 2 assessment, based on what is here, this
3 A . Wdl,if I'mgiven 15 data points, the first 3 particular model, at this point | would be
4 thing | do isl do aregression of al 15. 4 putting the outliers back in, but if | leave
5 I’m not going to predetermine what the datais 5 thisin theway itis, | would reject the
6 going totell me. | will start with -- use 6 model. I'd say thisisnot telling me that
7 everything. Let metake alook at it and then 7 there is arelationship between loss cost and
8 I will start trying different periodsto see 8 time.
9 because I’'m looking for: one, isthere an 9 STAMP, Q.C.:
10 overall trend or have trends changed over time 10 Q. But how does it compare? You did do
11 or isthere no relationship between loss cost 11 regression and you did use periods.
12 andtime. Thereisno trend, you're better 12 MR. DOHERTY:
13 off using an average. There' s no relationship 13 A Yes
14 between the two of them and | can't -- | don't 14 STAMP, Q.C.:
15 think | can do that unless| start with all of 15 Q. Did they match these periods?
16 the dataand then start letting the data 16 MR. DOHERTY:
17 direct meinto where abest fit model might 17 A.No.
18 be. 18 STAMP, Q.C.:
19 STAMP, Q.C.: 19 Q. And sowhy didn’t you adopt a period like this
20 Q. Soinyour opinion, Mr. Doherty, is the period 20 or find this period acceptable?
21 selected whichisreplicated in sD No. 1, the 21 MR. DOHERTY:
22 period selected by Oliver Wyman, is that an 22 A.Whenwedid our analysis, we determined that
23 appropriate period for regression to drive the 23 therewasa changeinthetrend starting at
24 trend that you're going to rely upon? 24 2004 H2 and so we split a 20-year period into
25 MR. DOHERTY: 25 two different periods. Wehad a 12-year
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1 period to start with and then an 8-year period 1 different trends under both of those, both
2 asasecond one and as | mentioned yesterday, 2 frequency and severity.
3 if we were really interested in realy 3 STAMP,Q.C.:
4 understanding the first 12 years, we might 4 Q. Now did you do the similar analysisthen in sb
5 have done some more analysis on that to see if 5 No. 2, 3and 4 for the other three periods
6 there were in fact two trend periods because 6 that Oliver Wyman had indicated?
7 when | look at it, | think there might be two 7 MR. DOHERTY:
8 trend periods in that first 12-year period, 8 A.Absolutely.
9 but because we knew it wasn't going to 9 STAMP,Q.C.:
10 influence our indication focused on the most 10 Q. Andcanyou just walk usthrough that fairly
11 recent five years, it wasn't agood efficient 11 quickly | guess?
12 use of our time. 12 MR. DOHERTY:
13 STAMP, Q.C.: 13 A. | think those ones will be quickly.
14 Q. So whenyou did your regression, did you 14 STAMP, Q.C.:
15 decide what the periodswould be before you 15 Q. Yeah
16 did it or did you do the regression and then 16 MR. DOHERTY:
17 begin to try and figure out what the 17 A. The second one will be much quicker. Now you
18 regression revealed for you? 18 look at the same period but it’s only the most
19 MR. DOHERTY: 19 recent five years.
20 A.No, wecertainly didthat. We started with 20 STAMP,Q.C.:
21 the five or six standard ones that | mentioned 21 Q. Thisissb No. 2?
22 yesterday and the key one is we start with all 22 MR. DOHERTY:
23 the data. We had all data with seasonality 23 A.Thisis sbNo. 2. Andwe didedown, so
24 and thenwe did the most recent ten-year 24 you'll seeat the very bottom -- just dlide
25 period. Thenwehad the reform, which again 25 down alittle bit more here. We're only
Page 30 Page 32
1 is a standard onefor us. We did the 1 including eight data points. Wedraw aline
2 regulatory one and then the analysts would 2 where the actualsend and the projection
3 havetried a number of different ones and | 3 period starts.  So 2013 H1, kind of beyond
4 can't recall off the top of my head because it 4 that, it'sall projection period. So you can
5 varies by coverage. It may be that, you know, 5 seewe' ve only got eight data points because
6 you get onethat really looks good and you 6 we had to exclude -- we took -- we started off
7 kind of stop because you got a great fit. All 7 with ten, but we excluded two, so we're down
8 of your statistics are solid, your regression 8 to eight datapoints. So if we can scroll
9 analysislooksreally good. At that point, 9 down to the next page? So in this particular
10 you kind of say, "I think 1’m done with this 10 case, go through the statistics again. So the
11 analysis. 1'm not going to go any further.” 11 R squared is, | guess, .002. That's some very
12 But | can guarantee you that for both 12 low number. Adjusted R squared is negative.
13 frequency and severity, we didn’t just rely on 13 Adjusted R squared being negative is a
14 the standard ones that we did, although where 14 challenging thing. It just means that you got
15 we ended up in ours was the auto reform piece, 15 aredly, really, really bad model. Inthis
16 you know, the split between pre and post 2004. 16 particular case, the al years P valueis 100
17 And again, as| mentioned yesterday, | don’t 17 percent and that’ s telling usthat if in fact
18 know if it'sbecause of thereform. All | 18 the underlying trend really is zero percent,
19 know isthat the dataistelling us it changed 19 there’'s ahundred percent chancethat you
20 at that point in time. We had a trend that 20 would get atrend like this, and it’ s not too
21 was going up for frequency and then it was 21 far from zeroto begin with, but you get a
22 going down. For severity, we had atrend that 22 trend of this size a hundred percent of the
23 was going up and then it was going up steeper 23 time just based on the randomness of the data.
24 after that period and the statistics support 24 S0 here, you're just -- you' re coming up with
25 that there weretwo different periods, two 25 a coefficient that’'s strictly based on
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1 randomness. 1 year period, but we' ve moved back kind of six
2 STAMP, Q.C.: 2 months, so we are excluding 2012 H2, but we're
3 Q Andsoif Ilook at thefirst graph onthe 3 including as a potential period 2007 -- make
4 second page, the actual fitted model loss 4 sure | pull -- yeah, sorry, 2002 H2. But 2002
5 cost, again we havethe bluelines that go 5 H2 gets excluded as being an outlier because
6 back to at least 97, | guess. | don't know 6 it'sasignificant drop from -- you know, if
7 if it sabit beforethat. But thered line 7 you look at theloss cost chart, thereis--
8 goes back al theway to -- there’s blue and 8 in that older period, there are two very high
9 red lines back in’93. But are welooking 9 values, 2001 H2 and 2002 H2. 2001 H2 is over
10 herein reality at 2008 H1, so you could put 10 600 and the 2002 H1 was over 700, and so when
11 your hand on the graph and cover up the space 11 you look at 2002 H2, it’scoming down from
12 and lines and information behind -- that’ s the 12 that high level 2009, so it'sdroppingby 50
13 only place that you seeis that small bit of 13 percent. Infact, 2003 H1 isdropping by 40
14 graph work, the blue and the red from 2008 on? 14 percent, but because -- and we excluded the
15 MR. DOHERTY: 15 2003 H1 last time because it was a high value,
16 A.That'scorrect. And, you know, if you did 16 but thistimeit gets trumped by that |atter
17 that, you covered ital up andyou were 17 one. So, again we're dropping those ones out.
18 looking at it, the one high that was excluded 18 We're dropping those data points out, as |
19 isthat high point. The low isvery difficult 19 understand it, beforewe actually do the
20 to pick up. | believeit's 2008 H2. In fact, 20 analysis.
21 i’ ssitting right on the red line. So again, 21 STAMP, Q.C.:
22 maybe that’ s because if you included that one, 22 Q. And the periodsthat is selected herein this
23 it would be far away from the red line. I’'d 23 ten-year period here, thisis amost a perfect
24 have trouble believing that, | guess, at the 24 match for the ten-year period in sD No. 1, is
25 onset, but we' ve removed as an outlier adata 25 it not, except that you have, in the case of
Page 34 Page 36
1 point that after you remove itis sitting 1 thetop datapoint, included’ 02 H2, which
2 right on the fitted line. And you will see on 2 wasn’t included in sb-1and you’ve excluded
3 the selected side, theloss cost, | had to 3 2012 H2 which was included in the first one?
4 adjust it again because now I’'mtrying to 4 MR. DOHERTY:
5 match an average over that shorter period. 5 A.Yeah, and it'sinteresting becausein fact
6 The average loss cost over that shorter period 6 when you deal with the exclusions, 2003 H1,
7 is$311.69, so the intercept isalittle bit 7 while it was in the period, it was excluded in
8 different than my original one, but I’'m just 8 the first one. Now it’sincluded because 2002
9 moving that slope line up and down to fit it 9 H2 is actually a deeper drop off, so now that
10 over top of the data that I’ m using in my fit. 10 oneisexcluded. Soyou bring in adifferent
11 Now in thiscase, theresidual runs aren’t 11 data point than you might think at the onset.
12 random. | got avery, very, very low R 12 STAMP, Q.C.:
13 squared. It'sbasically saying -- the model 13 Q. Sotheoutlier that was excluded in the first
14 that I’ ve selected is telling me nothing about 14 instance is how included?
15 the data. The Pvalue istelling methere’'s 15 MR. DOHERTY:
16 no relationship between loss cost and trend 16  A.It'snow included. So we do thefitson this
17 over that period. | would reject this model. 17 and the R squared is36 percent, so we're
18 STAMP, Q.C.: 18 describing, in this particular case, over that
19 Q.AndsD No. 3? 19 period with those data exclusions, we're able
20 MR. DOHERTY: 20 to explain 36 percent of the change inloss
21 A.sD No. 3isinteresting, absolutely. 21 cost over that period. The adjusted R squared
22 STAMP, Q.C.: 22 is 32 percent. Both, you know, those are not
23 Q. Allright. 23 bad values. Residual runs aren’t random.
24 MR. DOHERTY: 24 STAMP, Q.C.:
25 A. So herewe've moved back -- it's still aten- 25 Q. How important is that?
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1 MR. DOHERTY: 1 MR. DOHERTY:
2 A.Youknow, it'soneof the considerations. | 2 A.No, because you're not looking for two
3 prefer to see residual runs random, but I'm 3 different periods. Y ou’ re assuming presumably
4 not going to reject them all if that’sthe 4 there’ sonly one trend. I'm just trying to
5 only problem that | have with it. The P value 5 determine what that trend is. Again, if you
6 hereisstrong. It'ssaying that if in fact 6 think there’s only one trend, then why not
7 the trend isredly zero, there's a 0.2 7 look at all 30 data points you have available
8 percent change that you get atrend estimate 8 to you instead of limiting yourself to 20, of
9 like this, the minus 3.6 percent or minus -- 9 which you eliminate another four, so now
10 yeah, minus 3.6 percent trend. So, from that 10 you'redown to 16. 1I'm basing my estimate on
11 view, we certainly wouldn’t reject on this. 11 16 datapoints when | have 30. | don't
12 And you know, looking at the QQ plot, I’ m not 12 understand the rationale for that unless |
13 too -- | guess you have to go down for that 13 think that there’s achange inwhich case
14 one. Sorry, I’'mtalking -- I'm looking at 14 determine what the change is and test whether
15 stuff on my screen. Yeah, so the bottom QQ 15 or not there has been a change.
16 plot, that one looks alittle bit wonky to me, 16 STAMP, Q.C.:
17 but I probably would overlook that one as 17 Q. Okay. sD No. 4?
18 well. Like if out of the first three, 18 MR. DOHERTY:
19 certainly | don't like thefirst two. This 19  A. Sothisisanother five-year period. | think
20 one I’m interested in. Again, you know, I’ve 20 | mentioned yesterday, conceptually when |
21 got outliersthat | rejected before | actually 21 first heard that or you know, it dawned on me
22 did the data. At least this time the two lows 22 that theinitial outlier is determined based
23 are actually below the fitted line. Thetwo 23 on percentage change, the first thing |
24 highs are above the fitted line. I’m not sure 24 thought of was the one | talked about
25 | would have eliminated those data points. 25 yesterday, you think about aline and all your
Page 38 Page 40
1 I’d want to do that before, but given the data 1 datapointsare pretty closetoit, but you
2 that | have and given that somebody told meto 2 got one that shoots way up. Well, maybe that
3 remove these data points, | wouldn’t outright 3 isan outlier, but by this percentage change
4 -- | would not reject this model. | would be 4 methodology, you would exclude it becauseit’s
5 looking hard atit. Certainly out of the 5 far away. It'sabig change up. But then you
6 first three, thisis the best one so far. 6 would also exclude the next one because it's a
7 STAMP, Q.C.: 7 big change back down to the line. And I’ m not
8 Q. Okay. And sowhy would you not adopt this as 8 sure | understand the rationale for that
9 your trend? 9 second one. So you have one data point being
10 MR. DOHERTY: 10 the high one knocking out itself and the next
11 A Wadl, it'sonly looking at aten-year period. 11 one through this process. And | thought it
12 Again, we've got these dataexclusions. | 12 would be wonderful if | could show you an
13 want to look at -- if I’ve got the 15 years, 13 example of that and luckily in this data set,
14 going tolook at thewhole 15 years and I'm 14 you haveit here. If wesdlideover tothe
15 going to test whether or not aten-year period 15 left alittle bit, the 2007 H2 which is
16 isactualy the ten-year period that | want 16 included in the data set now, the actual value
17 and | struggle to understand why I’m not going 17 is448.75 and that’'s up 65 percent from the
18 to include 2012 H2. 18 272.56 from 2006 H2. So that shot way up.
19 STAMP, Q.C.: 19 That'sabigup. Now 2008 H2 is 302.26, so
20 Q. Andwhen you look at thisten-year period 20 it'sdown 33 percent from that high, but when
21 because it’s a mechanical thing you just said, 21 I’'m looking at those values, 302.26 doesn’'t
22 the decision is made on a mechanical basis, 22 leap out at me as apotential outlier and |
23 can you find the change in the slope the same 23 don’'t understand necessarily why you would do
24 way you did when you look at it the way you 24 that. Now before we leave this, | do -- and |
25 did it? 25 know it’s hard, but you almost have to scroll
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1 across and maybe if you could move your little 1 then we would pick one. You haveto -- for
2 thing at the 302.26. Thereyou are. Yeah, 2 us, you pick amodel and that’s the one you're
3 your hand isright onit. So the 302.26, now 3 going to go with, and so of these four, three
4 if youdide to the next column, 293.31, 4 of them | would outright reject because they
5 that’s the fitted value. The difference 5 don't show arelationship and if | wereto
6 between the fitted value and your outlier is 6 pick any one of them, ignoring the one that
7 only 8.95. It'syour fitted value. Now 7 has -- the one | wouldn’t be rejected, to me
8 again, thefit isafter you've removed this 8 it saysthere’'sno relationship between loss
9 outlier, but if your fit can fit that outlier 9 cost and time. Thetrend iszero except for
10 sowell, why isit anoutlier? | don’t -- | 10 the third one that they did at the minus 3.6.
11 fundamentally just don’t understand that. But 11 So if those are the four that you've
12 then again, | don’t understand the process of 12 determined are the best, | would be taking the
13 removing data points before you do your 13 minus 3.6 through this mechanical process.
14 analysis. 14 The other ones don’t describe a relationship.
15 STAMP, Q.C.: 15 Now as | understand it, because the last part
16 Q. Mr. Doherty, can we come back to - 16 says"we select a losscost trend rate of
17 MR. DOHERTY: 17 minusone and a half percent whichis the
18  A. Sorry, do you want to do the - 18 approximate average of A, the average of the
19 STAMP, Q.C.: 19 four abovetrends." Soyou've done four
20 Q. Yes, of course. 20 regressions and presumably these are your best
21 MR. DOHERTY: 21 models. | can't -- | struggle with that, but
22 A.Justfinishthisone off. We'll just do the 22 presumably these are your four best models,
23 stats onthis one. It doesn’'t look any 23 three of which 1 think I’ve shown should be
24 different than the previousfive one, but if 24 rejected outright and one of them has some
25 you just slide down. The challengeisyou're 25 value, but rather than taking the one that has
Page 42 Page 44
1 only looking at eight data points and when you 1 valuethen average four of them, three of
2 have volatility like this, any regressionis 2 which should have been rejected. So |
3 going to struggle with it. And if you could - 3 struggle with that conceptually. At this
4 - maybe skip the charts and we'll just look at 4 point in time though, you've taken a
5 the -- there we go. So, the R squared, you're 5 regression which is based on these squares and
6 explaining 1.4 -- you're not explaining 6 we've got lots of fun measures and stuff like
7 anything in the data. There' s no relationship 7 that to go off of, but as soon -- now you're
8 that’ s being determined. Y our fit's horrible. 8 averaging some estimates. It stops being
9 Y our residual runs are random. Your Pvaue 9 least squares. We're done with least squares.
10 is 100 percent meaning that you would get a 10 Maybe least squares isn’'t the best way of
11 1.9 just through the randomness or noisein 11 coming up withiit. | think there’'salot of
12 the data. There’sno signal there. We would 12 literature on least squares, that it's a
13 reject this outright. 13 strong way of determining relationshipslike
14 STAMP, Q.C.: 14 this but as soon as then you take a bunch of
15 Q. Okay. Canl come back to the pagein the 15 output from least squares and then you average
16 Oliver Wyman report that had the four 16 them together, it'sno longer least squares.
17 regression periods on top? Now that they have 17 It's some other estimation process. | don't
18 done these you say four mechanical exercises 18 know how to describeit. Maybe there’s some
19 with respect to four regressions, what happens 19 literature somewhere that I'm not aware of,
20 then? 20 but we're no longer least squares estimating
21 MR. DOHERTY: 21 our trend. So wetake that and then we
22 A.Wadll, you know, again, so presumably these are 22 average that average and | apologize, | don’t
23 your best -- you' ve looked at a whole bunch of 23 have the average of those four there.
24 stuff and you did a whole bunch of regressions 24 Presumably it's close to zero, maybe alittle
25 and these areyour best four. Now for us, 25 bit negative. And then we average it against
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1 the prior selection of minustwo and ahalf 1 year period when I’m including trends that
2 percent. Theprior selection I’'m assuming 2 camefrom an anaysisthat wasdone three
3 went through the same process where you did 3 years ago on periods that at best only include
4 four regressions doing the same stuff, doing 4 half the data from the experience period that
5 ten-year periods and stuff like that and 5 | want to use. | don’'t know.
6 rather than choosing onethat actualy fit, 6 STAMP,Q.C.:
7 you come up with an average and then you took 7 Q. Soinyour opinion, is this process that has
8 that average and averaged it with your 8 been adopted here either statistically sound
9 previousone. | guess, you know, as| think 9 or actuarially sound?
10 about it, if the same approach was taken in 10 MR. DOHERTY:
11 the prior analysis, then you started off with 11 A. It doesn't meet my requirement where I'm
12 aten-year period ending June 2012 and afive- 12 trying to come up with away to determine how
13 year period ending June 2012. Those two 13 | can take 2003, events that happened in 2003
14 periods are the exact two same periods that we 14 giving rise to claimsand how | can adjust
15 have here. Theonly difference, | guess, is 15 those to make it look like they happened in
16 that I’ ve updated my estimates of ultimate and 16 2015 and generated claims coming out of that.
17 if I’'m updated my estimates of ultimate, then 17 There’'s nothingin here that helps me to
18 presumably | would get different regression 18 believel can do any of my first fiveyears
19 estimates. If my estimates of ultimate are 19 certainly although I’ m not sure exactly how |
20 exactly the same, I’'m going to get the exact 20 would apply the minus one and ahalf percent
21 same numbers, but if there has been a change, 21 trend over the dataanyway. Can | useit to
22 then presumably the new values are your best 22 take 2003 forward to 2015 or am | only
23 estimate, in which case | don’t know why then 23 supposed to use it to take 2008, '09, ' 10, ' 11
24 | would give weight to regression trend 24 and ' 12 forward to 2015? And again, I’ m not
25 estimatesthat | got the last time when I’'m 25 surethis really describes that relationship.
Page 46 Page 48
1 doing the exact same periods now with 1 Evenif I’'m looking at the most five -- can |
2 presumably better data. So that part just 2 feel comfortablethat this selected thing
3 confusesme. But then | get more confused 3 really represents how events that arose in
4 when | think about, okay, so the last time you 4 2008 that gave riseto claimscan redlly be
5 started off with aten-year and afive-year 5 reflective of what | can expect to pay if
6 period ending June 30th, but then you would 6 those same events arose in 2015 and had claims
7 have moved it back so you're using ten-year, 7 comeout of that? | think there’sa huge
8 five-year period ending December 2011 and 8 disconnect between the valuethat -- inthe
9 you've giving that 50 percent weight and 9 way that the value is determined here and how
10 you're weighting in against your prior 10 | can apply it to what | want to apply it to,
11 selection from the previous one which used 11 which iswhy | don't think that this does what
12 data periods before that and before that and 12 | want it to do. Oursdoeswhat | want it to
13 before that and I'm assuming that, you know, 13 do, in my opinion.
14 if you follow that same thing, you' re probably 14 STAMP, Q.C.:
15 giving something like, | don’'t know, five or 15 Q. So you make amechanical decision, asyou've
16 Six percent weight to regressions done on 16 described this, to pick four periods, the 10
17 periods that don’t eveninclude half of the 17 year, and then a fiveyear period being a
18 period that you' re supposed to be applying my 18 subset of that 10 year, and a dightly
19 trend to. So | struggle with that whole piece 19 different 10 year, and afive year period that
20 aswell. I’'m not really sure what the purpose 20 isasubset of that dlightly different 10 year
21 of that is. Certainly | struggle when at the 21 period. You decideto do that, and then you
22 beginning we' re saying the goal of the process 22 usethat eachtime asyour formula, so to
23 isto determineatrend that applies to at 23 speak, and, so, therefore, you're aways
24 least the experience period that we're 24 relying to some extent on the prior selection.
25 including in my indication, which is the five- 25 What does that to do - if you intended to
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1 confine yourself to the 10 year period, and, 1 I'll keep going until 2004 drops off my 20
2 say, the five year period, what does that do 2 year dataset.
3 when you go back in your formula thisway, 3 STAMP,Q.C.:
4 always picking up 50 percent for the previous? 4 Q. Mr. Doherty, I'm going to ask you to turn to
5 MR. DOHERTY: 5 the CA-FA-06, in particular the response, and
6 A.lgnoring the impact of, | guess, the highs and 6 on the package I’'m looking at, I’m turning to
7 lows, the best | canimagine isthat, you 7 page 25 to 28 of the material that wasfiled
8 know, eventually the dataisgoing to catch 8 by Facility inresponse to those series of
9 up. Eventually, you know, through this 9 questions, CA-FA-06.
10 process, you're probably at some point 10 MR. DOHERTY:
11 understating, like, you're showing a trend 11 A.Yes, wehaveit up.
12 that now it should be positive, you' re showing 12 STAMP, Q.C.:
13 it as negative, but later on it comesto zero, 13 Q. Okay, so what isbeing asked of Fecility in
14 and then it starts going up. So your process 14 this question?
15 isgoing to create trends, but the datais 15 MR. DOHERTY:
16 going to pull it up and down and pull it up 16 A.Yes, here the consumer advocate asked what
17 and down. | think the problem | would haveis 17 happensto your indicator rate if you use the
18 that when you get pulled down because of this 18 PUB approved loss cost trend rates instead of
19 process, but I’'m showing something that’s up 19 the onesthat you selected. So we provided
20 here, through the process thisis capping you, 20 the estimates. We did it off of the
21 you haveto have minus1 and ahalf, and | 21 correction that they identified for us, we
22 think it's 4.4. In two years, threeyears 22 corrected for it. If you slide down, | just
23 from now, there'sacatch up, and now, you 23 want to show the chart here.
24 know, this process has 4.4, but by then I've 24 STAMP, Q.C.:
25 aready changed because the trend has changed 25 Q. Just before you do that, isthis effectively
Page 50 Page 52
1 andnow I'mat 1 or O, or minus1.5. Now we 1 joining the frequency and the severity in
2 take mine because mineislower than that one. 2 doing it in a combined way?
3 It seemsto me that the process of alowing 3 MR. DOHERTY:
4 for metouseatrendis capped. Aslongas 4 A Yes sothisisthen-my Bl is-1.5.1 can't
5 mineis below thisone, then| have to use 5 remember exactly what the trend is on the PD.
6 mine, and if mineis above that, | have to use 6 Thisis the blended rate of the PUB trends
7 thisone. Soit’sabiased approach to the 7 TPL, but it isdownward sloping, as you can
8 application of the trend, | guess, as | see 8 see. So what we' ve done here in those charts
9 it. I’m assuming that, you know, you’ re going 9 below, we're showing - the blue bars are the
10 to get these potentially wild swings. If | 10 actual loss cost over that 10 year period that
11 don't think that the period has changed or the 11 we have availableto us of the taxi rates.
12 trend has changed since 2004, | may get 12 The purple dotted line at the top would be the
13 updated data. My estimate of that trend 13 loss cost that you would fit based on using
14 parameter may change. I’'m always testing to 14 Oliver Wyman’ strends and taking an average of
15 see if the trend has changed, but if it 15 the most recent five. Soyou can see that
16 hasn’t, then next year it'sstill going to 16 it's downward sloping, and certainly, you
17 start at 2004-H2. I've just got more data 17 know, it does go through the 2010, 2011, and
18 pointson thisend. It may move my fitted 18 2012 periods, butit's well above 2008 and
19 linea little bit, but it'sgoing to stick 19 2009, and that’s because we had to useall
20 around there unless as | test it, if something 20 five of those periodsto set it, and then it's
21 comes up and the data says, listen, it 21 dropping down from there. So on this view, by
22 changed, it changed at this point, and | can 22 2015, 2016, the loss cost rate drops down to
23 giveyou asdtatistically valid support for 23 somewhere in the neighbourhood of $3,200.00 or
24 that change, 1I’'m not going to change that 24 something like that, butif youlook back
25 period. I’'m going to keep going from 2004. 25 beyond the most recent three periods, it's
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1 sitting well above 2007, 2008, and 2009. In 1 STAMP,Q.C.:

2 fact, it'sditting well above 2006, 2005, 2 Q. Andwhat colour isthat going to be here?

3 2004, 2003. When I'm looking at that, for me, 3 MR. DOHERTY:

4 personadly, it doesn’t look like that trend 4 A lt'sthered one, the first red part.

5 line, that downward slope, redly describes 5 STAMP, Q.C.:

6 the data. Even if - there'sanumber of lines 6 Q. Okay.

7 on here becausewe're looking at different 7 MR. DOHERTY:

8 things. Thetop line isbased only on the 8 A.If instead you believe the credibility

9 taxi experience. The green dotted line is 9 weighted view, but still using their trends,
10 using our estimate of the loss cost underlying 10 then 2013 would comein just shy of $3,000.00,
11 the current rate, and then the red lineisa 11 and if you believe the experience isreally
12 credibility weighted of those two. So they're 12 what’s going to be the main factor of this,
13 al parallel because we're using the same 13 then you would look at the addition of the
14 slope, but even if you usethe dotted green 14 purple bars. So there you're up above
15 line, it doesn't really look like agood fit 15 $3,000.00.
16 if you think about residuals should be random 16 STAMP, Q.C.:
17 because the first four are al below and the 17 Q. Sothese blue bars to the left of those newly
18 last six are all aboveit. To me, visualy it 18 added colour bars are intending to show where
19 doesn’'t, to me, look like that downward slope 19 Oliver Wyman sees the result in 2013?
20 actually fitsthe taxi data. 20 MR. DOHERTY:
21 STAMP,Q.C.: 21  A.Yes, sothe bluebarsare actuals, and then
22 Q. Sotheselines, the purpleline, thered line, 22 again using the trend assumptions, we can
23 and the green line, areintended to somehow 23 project forward based onthat whatis the
24 capture the direct that the blue bars are 24 implied loss cost using those trends, and then
25 indicating, is that what’s going on? 25 under these three different scenarios; one
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1 MR. DOHERTY: 1 beingif therates are currently adequate,

2 A .That'sright. If thelosscost experience 2 then the loss cost must look like this; if

3 that we have is following the trends that are 3 instead the loss costs are going to look like

4 proposed by the Oliver Wyman Report, thisis 4 the experience, then it'sgoing to look like

5 how they would have to look. 5 the bigger one or the credibility weight, a

6 STAMP, Q.C.: 6 piece in between, so -

7 Q. If you swing acrossthe page where they have 7 STAMP, Q.C.:

8 the bar with the different coloursin it, what 8 Q. Ifyou start with rates being adequate, if

9 doesthered line- let's, for example, say 9 that theory is applied, which of the coloured
10 thered line. What doesit tell you that the 10 bars would you be seeing?
11 blue barsto theleft from 2012 and before, 11 MR. DOHERTY:
12 what do those blue barstell us about where 12 A. It would be the red, going up to $2,500.00.
13 the blue bar for 2013 would be? 13 STAMP, Q.C.:
14 (12:00 P.M.) 14 Q. All right. So if the theory isthat we
15 MR. DOHERTY: 15 started this process with adequate rates, then
16  A. Soit'sthe sameinformation asin the first 16 Oliver Wyman would be -
17 one, but wejust changed it soinstead of 17 MR. DOHERTY:
18 lines and to try and make it clearer what the 18  A. Not adequaterates. Thisis the underlying
19 implication is, the first onefor 2013, the 19 based on our view.
20 red part of it says, well, if the underlying 20 STAMP, Q.C.:
21 loss - the underlying assumption that the 21 Q. Okay.
22 rates are currently adequate, then under that 22 MR. DOHERTY:
23 assumption and using Oliver Wyman's trends, 23 A. Sounder our view, the rates are currently not
24 then accident year 2013 loss cost should come 24 adequate, but this underlying comes from the
25 in around $2,500.00. 25 rate indication that we had from our previous
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1 filing, adjusted for the rate that we did get, 1 year periods or any longer period have been
2 but recognizing that we didn’'t ask for, nor 2 declining. They have been going up.
3 didweget all therate that we needed from 3 STAMP, Q.C.:
4 that indication. 4 Q. Andnow theconclusion isthey’regoing to
5 STAMP, Q.C.: 5 decline, Oliver Wyman'’s conclusion?
6 Q. Butal these newly added four coloured bars 6 MR. DOHERTY:
7 on theright of the right hand graph are 7  A. |l believe the conclusion isthat they were
8 intended to show where the result will be for 8 declining before, and they're going to
9 2013, 2014, 2015, and 2016, asisdriven by or 9 continue to decline, because as| understand
10 isindicated from the blue bars to the left? 10 the analysis, | should beusing a-1.5 at
11 MR. DOHERTY: 11 least over the experience period between 2008
12 A.Yeah, based onthose assumptionsthat loss 12 and 2012. So while, to me, it lookslike, and
13 costs are dropping. 13 the confirmation ison just doing a simple
14 STAMP, Q.C.: 14 trend analysisthat thelosscost for taxis
15 Q. And did youmake a comparison with that 15 aregoing up. Theview taken from Oliver
16 information, did you show anything - | look at 16 Wyman's analysis of Newfoundland industry
17 the next page. There are some additional - 17 commercia dataisthat 10ss cost are actually
18 MR. DOHERTY: 18 going down.
19  A. I think you haveto bring up FA-07. Oh, no, 19 STAMP, Q.C.:
20 sorry, on here, yeah. Inthiscase, al we 20 Q. Soyou seethe blue bars as taking us up; they
21 did was said, okay, well, just look at the 21 see the blue bars as taking us down?
22 experience and thisisjust avery, very rough 22 MR. DOHERTY:
23 - but thisisregression as well. All we've 23 A.Yes | seeit -inmy view, | just put ona
24 done iswe' ve done an exponentia trend. It's 24 regression and the regression also says that.
25 calculated the exact sameway aswe did the 25 Again | didn’'t do al the other tests that we
Page 58 Page 60
1 other stuff, and all we're showing hereisan 1 would normally do. Thisis just to show you
2 R squared fit, but we' ve got loss cost for the 2 that you just do simpleregression oniit, it's
3 taxi, third party liability. Thelittle one 3 going up, it's not just my eyeballstelling
4 that saysY, thefirst number is effectively 4 me, it isgoing up, apparently. Certainly
5 the cost or the intercept, E isalog-normal 5 neither of those two are suggesting it’s going
6 base. The.067, the 67 isthetrend, soit’s 6 down. Canwelook at F7, | think -
7 saying that given the data that you've given 7 STAMP, Q.C.:
8 me, the regression tellsme you've got a6.7 8 Q. Yes wdl, I'll comebacktothatin justa
9 percent trend, and by the way, your R squared 9 moment, | think - you can go there. Y ou want
10 is 80 percent, meaning that over that period 10 tolook at FA-07?
11 the regression you’' ve asked me to do explains 11 MR. DOHERTY:
12 80 percent, and | don’t have therest of the 12 A.l believe so. That'sthe onewe show our
13 dtats, thisisjust - you can - if you' ve got 13 trends on it.
14 achart in Excel, you can click on your data 14 STAMP, Q.C.:
15 and say give me an exponential trend, and you 15 Q. Yes, yeah, maybe you can just move to the next
16 can tell it, put up the statsfor me. Sol 16 question and response, please.
17 haven’t done anything else other than that. 17 MR. DOHERTY:
18 All we really want to show hereisthat if you 18  A. Here we ve done the same thing as we did, you
19 look at that four year period, loss cost for 19 know, using Oliver Wyman's trends, except we
20 the taxis have been going up at 6.7 percent 20 used ours, and thisisthe 4.4 post-2004, but
21 per year. If you look at the most recent five 21 asyou can see, before 2004, our trends were
22 years, the trend there is 4.8 percent. Both of 22 showing downward on aloss cost, and then they
23 those are estimates of the underlying trend. 23 started to go up after 2004. It'slike a
24 To me, neither of those suggest that loss cost 24 little hockey stick, | guess, | would describe
25 for the industry over the most recent five 25 it, but that even looks like the results from
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1 the taxi industry. So our assessment of the 1 which are March 21, 2014, and in particular, |
2 Newfoundland industry commercial, using our 2 guess, the response to those, whichis in
3 bifurcation of periods and coming up with our 3 Facility’s response on 31 March, and in
4 estimates of what was happening with loss cost 4 particular, I’'m looking at question number 11,
5 over that period, it seemed to look something 5 oW 117
6 like what we were seeing happen with the 6 MR. DOHERTY:
7 taxis, and I’'m looking at that and it seems - 7 A.Yes, so maybe if we go up to the bottom of the
8 to me, it seemsto fit better. There' s till 8 next page to get the actual question - sorry,
9 biasin each of the estimates. The underlying 9 the previous page. There you go, there’ sthe
10 oneis always below the actual loss cost. The 10 question.
11 weighted one is always below except for when 11 STAMP, Q.C.:
12 you get back pre-2007. The experience one 12 Q. Theprevious page, yeah. So what’s being asked
13 doeslook likethe actual experience piece. 13 here?
14 Sowhen I'mlooking a this, that seemsto 14 MR. DOHERTY:
15 make more sense to me on how thingsaregoing. |15 A. So the question was, "The graphsin the loss
16 If you look over on the other one where we put 16 trend section show", and thisisin reference
17 them into bars, the experience projections are 17 to our filing, "for bodily injury, evidence of
18 the red, green, and purple all together. You 18 an upward frequency trend pattern prior to
19 can see that that’s showing it’s continuing 19 2004 and then a decline in the frequency trend
20 on. That's not what we used in our 20 after 2004". The question then was, "Explain
21 indication, but nonetheless, that'sif you 21 why the period after the changein direction
22 believe that the experienceis your best bet 22 was not chosen as the regression period”. So
23 for determining what it is, and then you go 23 when weread that, weinterpreted it as, we
24 forward from theregoing up 4.4 percent. 24 look at the period and we see a change in 2004
25 Certainly, you know, the red plusthe green is 25 in frequency that you haven't included in your
Page 62 Page 64
1 the credibility weighted one, soit would 1 regression, and so our response was we didn’t
2 imply that from 2012 down to 2013, you drop a 2 understand the question because we did have
3 little bit, you drop down to $3,000.00, but 3 two different periods. We agreewith the
4 then it starts marching back up again, and if 4 assessment that they had made that there are
5 you believe the underlying, then you go from 5 two periods; one going to 2004-H1 where
6 2012 being about $3,500.00, you drop down to 6 frequency is increasing, and then one after
7 just over $2,000.00, which, | guess, would be, 7 2004 where frequency is decreasing. So we
8 you know, alevel you haven't seen since 2006, 8 fully agree with the assessment that was made
9 but then you start going up from there. For 9 in the statement in that question, and we used
10 me, at least the shape which isreflected in 10 those regression periods in our analysis.
1 the trend, the slope of that line, even the 11 STAMP, Q.C.:
12 hockey stick aspect of it that’ s incorporated 12 Q. And what was the period then that you finally
13 in our trend analysis using that bifurcation, 13 adopted for your regression?
14 to me looks alot more like the results of the 14 MR. DOHERTY:
15 taxi business per FA. Certainly, for me, it 15 A ltwas that period, that 2004-H2, and the
16 looks a heck of alot more like the commercial 16 split between thetwo periods, the first
17 experience for the industry, which iswhy we 17 period ended 2004-H1, the second period starts
18 picked it, and doing the same thing for each 18 2004-H2.
19 of the other coverages, you get the same 19 STAMP, Q.C.:
20 result. | believe our trend better reflects 20 Q. But throughout the Oliver Wyman Report - I'm
21 the experiencefor the taxis, | think it 21 talking about the actual report of 16 May.
22 better reflects the experience of the 22 Oliver Wyman seemsto say that they are
23 commercia vehiclesin Newfoundland. 23 concerned with the repeated choice by Facility
24 STAMP, Q.C.: 24 to use 20 year regression periods?

N
(€]

Q. Can| turn to the Oliver Wyman's questions,

25 MR. DOHERTY:
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1 A Yeah, we- if thedatatold me that there's 1 final model that you thought best reflected
2 one trend over the whole period, | would have, 2 eachindividual coverage, the best one that
3 but for thisparticular instance for our 3 reflected frequency and severity; yes. Did
4 analysis of the Newfoundland industry 4 that include 20 years as one long period; not
5 commercia vehicles, I’'m not aware of any time 5 to my knowledge.
6 wherewe picked onetrend over the full 20 6 STAMP, Q.C.:
7 year period. Therewas always bifurcation, 7 Q. Okay. They make the same observation - if you
8 there was always at least two periods as far 8 flip over, you don’t need to go there, but the
9 as!’mawarein al of our trend analysis, and 9 property damage commentary, the accident
10 most of them were around that 2004. | don’t 10 benefits commentary, the first bullet, the
11 know what happened in 2004, | don’'t know why |11 same phraseology is used. Is your response
12 necessarily things are changing post-2004, but 12 the same in respect of that observation?
13 it seemsto be a bifurcation of periodsin the 13 MR. DOHERTY:
14 experienceitself. So, yes, | reviewed 20 14  A. Absolutely, | mean, we take the same approach
15 yearsworth of data. Did | use asingle trend 15 to every single coverage.
16 period; no, | didnot, and, infact, the 16 STAMP, Q.C.:
17 period that we used for most, if not all the 17 Q. Okay. Yesterday, Mr. Doherty, you mentioned -
18 coverages, as reflects theindication that 18 you brought up about an Oliver Wyman
19 we've used is an eight year period post-2004. 19 conclusion that while FA - 1 think you said,
20 (12:15P.M.) 20 while FA did not find - there was a discussion
21 STAMP,Q.C.: 21 about seasonality.
22 Q. Soif | canjust bring up the Oliver Wyman 16 22 MR. DOHERTY:
23 May 2014 Report, and the heading, bodily 23 A.Yes.
24 injury. It'spage 11, the typed copy that | 24 STAMP, Q.C.:
25 have. Just go down to the first bullet under 25 Q. And that you mentioned, | think, Oliver Wyman
Page 66 Page 68
1 bodily injury. They say that in their opinion 1 noted that you did not find seasonality and
2 the 20 year period istoo long to serveasa 2 that they did find seasonality. Am | correct
3 basis for selecting trend rates, but did you 3 about what you said yesterday?
4 use a 20 year period for the trend rate? 4 MR. DOHERTY:
5 MR. DOHERTY: 5 A.Yes
6 A.Notasingle period of 20 years, no. | did 6 STAMP, Q.C.:
7 look at a 20 year period. | have 20 years 7 Q. lIfl canjust getyoutoturnto the second
8 worth of - | got 40 datapointsthat | can 8 bullet under bodily injury, is that the
9 look at and | looked at all of them, and then 9 discussion that you were talking about?
10 through an interrogation of the data, | 10 MR. DOHERTY:
11 determined what periods | felt best reflected 11 A Yes
12 trends or changesin trends, and | do not 12 STAMP, Q.C.:
13 believethat inany case | picked one that 13 Q. And again what was the period of your
14 encompassed one trend over the full 20 year 14 regression where you determined - revealed the
15 period. Sol don't believethat’sreally an 15 trend and determined that no seasonality was
16 accurate representation. | did review 20 16 evident?
17 years. Did | do a 20 year regression; 17 MR. DOHERTY:
18 absolutely, that was the first one that | did. 18 A. Theregression model that we used coversthe
19 Did | doa 20 year regression including 19 full 20 periods, but we bifurcated into two
20 seasonality; absolutely, for every single 20 periods; the first period ending 2004-H1, the
21 coverage | did that. Did | do a 10 year split 21 second period ending - sorry, starting 2004-
22 into two five year periods; yes. Did | do for 22 H2. So the second period does not -
23 every single coverage two split between - at 23 STAMP, Q.C.:
24 2004 when that reform; yes. Did | do awhole 24 Q.I'msorry, | didn’'t catch what you said.
25 bunch of other ones; yes. Didyou pick a 25 MR. DOHERTY:
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1 A. Sorry, thesecond period, we didusefull 20 1 STAMP, Q.C.:
2 years, but we splitit intotwo different 2 Q. Inthethird bullet here, Mr. Doherty, under -
3 periods. 3 these discussions have been onthe bodily
4 STAMP, Q.C.: 4 injury, of course, but in the third bullet it
5 Q. And what was the second period? 5 seems that Oliver Wyman questionsthis, |
6 MR. DOHERTY: 6 guess, recognition that you've made. Your
7  A.2004-H2 to 2012. 7 view seems to bethat legislationin 2004
8 STAMP, Q.C.: 8 which introduced a $2,500.00 deductible that
9 Q.2004? 9 applied across the board, you saw it as having
10 MR. DOHERTY: 10 influence, did you?
11  A.Yes 11 MR. DOHERTY:
12 STAMP, Q.C.: 12 A. Weassume it'srelated to the 2004 reforms.
13 Q. And what was the period you understand that 13 STAMP, Q.C.:
14 Oliver Wyman' s suggested to use based on that 14 Q. You said before you don’'t know what the cause
15 report we went back through alittle while 15 of the change is, but there’ s a change?
16 ago? 16 MR. DOHERTY:
17 MR. DOHERTY: 17  A.Yes
18 A. WHll, based on thefina sentencein that 18 STAMP, Q.C.:
19 paragraph - sorry, in that bullet point, they 19 Q. And coincidental with the changethat you
20 say, "The parameter test we applied indicates 20 observe, these changes in the legislation
21 that a seasonality parameter should be applied 21 occurred?
22 in the regression model over the 2005to0 2012 22 MR. DOHERTY:
23 period”. 23 A. That'scorrect.
24 STAMP, Q.C.: 24 STAMP, Q.C.:
25 Q. Butwhat period isthat? 25 Q. Theintroduction of the deductible occurred?
Page 70 Page 72
1 MR. DOHERTY: 1 MR. DOHERTY:
2 A.That'snot the period that | used. 2 A Yes
3 STAMP, Q.C.: 3 STAMP,Q.C.:
4 Q. lsitthe period that they used? 4 Q. Andsowhat doyou say to Oliver Wyman when
5 MR. DOHERTY: 5 they say wedon’'t see any - | mean, you're
6 A.lthink that'saseven year period, might be 6 seeing something. They don’t see anything.
7 an eight year period, I'm not very good at 7 MR. DOHERTY:
8 arithmetic. | don’t believe it’s one of the 8 A.I'mjustlooking at thedata, and sol seea
9 10 or 5 year periods that they actually used. 9 bifurcation occurring at that point in time.
10 STAMP, Q.C.: 10 It may be because of the 2004 reforms, maybe
11 Q. When we started off the discussion this 11 not. Oliver Wyman may have done a study that
12 morning, we had this mechanical choice of four 12 focused - like, maybe a closed claims study or
13 periods? 13 something likethat that sayswe actualy
14 MR. DOHERTY: 14 looked at the claim settlementsrelated to
15 A.Yes 15 non-pecuniary losses and the application of
16 STAMP, Q.C.: 16 deductible pre and post the 2004 reform, and
17 Q. Did the 2005/2012 period that they mentioned 17 we've determined based on aseparate study
18 in seasonality here match any of those four 18 that thereis, infact, no changein the
19 periods? 19 outcomes. | don’t know, they may have done
20 MR. DOHERTY: 20 something like that. Maybe that’s how they
21 A.No. 21 determined that for their view the 2004
22 STAMP,Q.C.: 22 reforms had no impact on loss cost, and that’s
23 Q. So where does that period come from? 23 fine, I don’'t know, I’m not aware of any study
24 MR. DOHERTY: 24 likethat. We certainly did not do a study.
25 A. |l don't know. 25 All we did was said, look, we're looking at
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1 the data, and it appearsthat they agree at 1 MR. DOHERTY:

2 least interms of frequency, there was a 2 A As | understand it, prior to the

3 changein frequency. Sowe're attributing 3 implementation of a heath levy, the

4 that changein frequency asinitial estimate 4 provincial health body would subrogate against

5 duetothereforms, soit wasgoing up. If 5 insurersindividually on individual claimsto

6 frequency continued to go up, you would have 6 recover the cost associated with automobile

7 been up here, but it started to go down, so we 7 claimsthrough the medical system. It was

8 measured the gap between those two and that 8 deemed to be an administrative burden and it

9 gap, asthey point out here, was 27.2 percent 9 happened across many jurisdictions where they
10 drop, and then it continues to go from there. 10 changed the approach then to have an annual
11 On the severity, we saw the same thing. 11 levy applied to theindustry as a mechanism
12 Severity was going up and it went up more, and 12 for capturing the cost across all insurers.
13 so again we looked at whereit was going to 13 Different jurisdictions have different ways of
14 go, and then compared along one trend line and 14 determining the allocation of the amount, but
15 then the other trend line, and just compared 15 as | understand it, the Ministry of Health in
16 the valuesto come up with that. Is it 16 Newfoundland determines the amount of money
17 because of the change in the deductible; | 17 they need to recover, and thenthey havea
18 don't know. Doesit have anything at all to 18 methodology of determining which of the
19 do with the reforms or was it just 19 insurers pay what amount to them to recover
20 coincidental; maybe, | don’t know. All I know 20 those costs. In the case of Newfoundland,
21 isthe datais telling me something happened, 21 they’reworking with - as| understand it,
22 there's a change, you should reflect the 22 they work with IBC to determine alevy that’s
23 change, it'svalid, so | did. 23 applied on a per vehicle basis, but it doesn't
24 STAMP, Q.C.: 24 apply to all vehicle classes. In particular,
25 Q. All right, Mr. Doherty, do you have anything 25 the number that IBC takesto themto say,

Page 74 Page 76

1 further to add on the issue of trend that we 1 okay, you've decided on how much money you

2 haven't covered? 2 want to collect; well, here’ s the number that

3 MR. DOHERTY: 3 you' re going to use to collect, and here’' s how

4 A.No, | don't believe so. 4 each individual insurer in the province sums

5 STAMP, Q.C.: 5 up to that number, and there are certain types

6 Q. Allright. Can wego toagainthe Oliver 6 of classes of businessthat are included in

7 Wyman Report, 16 May. | think | would liketo 7 that number and there are certain glasses of

8 goto - they mention inthisreport, and | 8 business that are not. Taxis are not included

9 think it'sat - they mention the five topics 9 in that number, and because of that, we do not
10 that they want to deal with. It showsup at 10 includein our indication alevy for health
11 page eight toward the bottom of the page, the 11 costs that we would have to garner from the
12 paragraph beginning, "Based on our review". 12 taxi industry. If weincluded that cost, and
13 Thisisthe fivetopics, do you understand, 13 so we were effectively getting the taxi
14 that Oliver Wyman has identified that they 14 driversto pay that expense on our behalf and
15 want to discussand, | guess, deal within 15 we share that with our members, the Ministry
16 their report? 16 of Health would not be asking for that money
17 MR. DOHERTY: 17 from our members, so it would just effectively
18 A.Yes 18 go into the pockets of our members, and that’s
19 STAMP, Q.C.: 19 not how we do business. We capture cost in
20 Q. Andwe've dealt with loss trend rates, have we 20 the premium that they areresponsible for.
21 not? 21 The premium tax is a perfect example.
22 MR. DOHERTY: 22 Facility Association does not pay the premium
23 A.Yes, | believe so. 23 tax. Thepremiums are alocated to our
24 STAMP,Q.C.: 24 members and when it lands on their books, then
25 Q. What'sthisissue, the health levy? 25 they’re responsible for paying the premium

Page 73 - Page 76
Discoveries Unlimited Inc., Ph: (709) 437-5028



November 6, 2014

Multi-Page™

Verbatim Court Reporters

Page 77 Page 79
1 tax. We do, in determining our rates, include 1 are going to continue going forward, even with
2 aprovision for the premium tax, so when that 2 the ratesthat we're proposing, we're not
3 premium lands at the individual member 3 going to get enough premium to pay for the
4 company, they have the money to then pay the 4 indemnity claims, not to mention any of our
5 premium tax from that premium level. Inthis 5 other expenses.
6 case with taxis, because they’ re not included 6 STAMP, Q.C.:
7 - whether or not they should or should not be, 7 Q. All right. Can we turnto C-1, please,
8 they are not included in that base count, and, 8 Exhibit C-1.
9 therefore, there's no reason for usto include 9 MR. DOHERTY:
10 that as cost. 10 A. Maybe beforel leave that -
11 STAMP, Q.C.: 11 STAMP, Q.C.:
12 Q. All right. Mr. Doherty, the third and fourth 12 Q. Oh, yes.
13 items, the credibility standard, and the basis 13 MR. DOHERTY:
14 for the complement credibility, did you 14 A.l don'twant toshock people, butif the
15 propose to deal with that when you’d come back |15 experience is really reflective of the
16 to Exhibit C-1? 16 underling cost and it continues at that level,
17 MR. DOHERTY: 17 and eventually we will get there if it
18 A.Yes, please. 18 continues like that, the actual indication
19 STAMP, Q.C.: 19 would be about 126 percent increase. The
20 Q. So maybe we can go to - before you go to C-1, 20 average rate -
21 | just to come back to D-1 for amoment if we 21 STAMP,Q.C.:
22 can. 22 Q. Ascompared to the 50 that you proposed?
23 MR. DOHERTY: 23 MR. DOHERTY:
24 A, Sorry, | don’t have a page number for you. | 24  A.That'sright. Againthat’sjust based only on
25 think it maybe page 55 or something. There you 25 the taxi experience, and we have a credibility
Page 78 Page 80
1 go, perfect, page 40. 1 weighting methodology that takes you down from
2 STAMP,Q.C.: 2 there, but | just want everyone to understand
3 Q. Allright,and what I'm looking at, | guess, 3 that if the experience continuesaong the
4 is toward the right hand side of the D- 1 4 path that it has been apparently on at least
5 Exhibit. | think that's where we'd be 5 the last five years, if not the last ten, then
6 looking. What | want to ask iswhat isthe 6 our rates are grossly inadequate and they need
7 implication of Facility not gettingthe 50 7 to more than double, and the 2012 on-level
8 percent rate that its proposed? 8 premium after you take into account the close
9 MR. DOHERTY: 9 to 50 percent increase overall that we got
10 A. Sointhis particular case - now thisisjust 10 last year, the average premium is just over
11 based on the taxi experience and thisisnot 11 $3,000.00. At 126 percent increase, you're
12 the end result that we' re proposing, as we'll 12 looking at amost $6,900.00 as average
13 see whenwe get to C-1, but the trended 13 premium. There's asignificant difference
14 ultimate loss ratio that you see in Column 17, 14 between what the experience alone is saying
15 the weighted average of the most recent five 15 and what isbeing paid. | just want to make
16 years, just taking a straight average of the 16 it clear that - we'regoing totalk about
17 most recent five years, that loss ratio, which 17 credibility and we're going to talk about how
18 includesthe rates that we got and therate 18 we do the credibility weighting and stuff like
19 increase we got last year, if there' sno rate 19 that, but if the experience continues along
20 increase right now, then we would project as a 20 that path that we've seen for the last ten
21 first estimate for 2015, you would get about 21 years, eventually that credibility weighting
22 153.8 percent lossratio. At that rate, even 22 process is going to lead you to the
23 with the rate level that we're proposing, that 23 experience, and you' re going eventually to get
24 loss ratio doesn’t come down to 100 percent. 24 to rates that are commensurate with this. So
25 If the experienceis reflective of how things 25 doesit happen next year, the year after, the
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1 year after, but sometime in the next period 1 uninsured motorists, and percentage-wise
2 you're going to get there unless something 2 absolutely correct that those are level s that
3 dramatically changes in the underlying trends 3 we are proposing. So if we can go back. I'll
4 that we're seeing in the taxi loss cost piece. 4 just run through the rowskind of quickly.
5 (12:30 P.M.) 5 You can see that 93 percent premium
6 STAMP, Q.C.: 6 distribution and third party liability in Row
7 Q. All right. Perhapswe can turn, Mr. Doherty, 7 6. Row 7 iswhat we propose as the complement
8 to C-1 then, Exhibit C-1. 8 of credibility. We start off with the
9 MR. DOHERTY: 9 assumption that - and this is what we do
10 A.Yes. Wecan makeit bigger becausel’m only 10 acrossthe board in all of our jurisdictions.
11 going to really focus, I guess, on the third 11 Our approach is - and, you know, when | joined
12 party liability column still. 1'm going to 12 in 2010, through 2011, | was focused more on
13 try and go through this quickly because 13 valuation. In 2012, | started focusing our
14 athough | could talk for days, I’'m sure 14 attention on the pricing aspect of it and how
15 people are getting tired of listening to me, 15 we weregoing to do thingsand what our
16 so I'll go through this- D-1is redly the 16 approach was, and there are a number of
17 one that drives - thisiswhat the experience 17 changes that we implemented. One of the
18 lookslike. Now this process, let’s marry 18 changes wasthat we had two providers of
19 that information with some other information 19 services; one that deat with the Atlantic
20 that we have, let's load things up for 20 provinces, and onethat dealt with Ontario,
21 expenses, let’stakeinto account investment 21 Alberta, and Territories. They had two
22 income, to come up with what kind of rate do 22 dlightly different approaches, so we
23 weneed tochange. So thefirst six rows 23 consolidated, we believe we took best
24 there arereally around what are our current 24 practicesfrom thetwo of them. They were
25 exposures, what's our current written premium, 25 very similar, but there was also a difference
Page 82 Page 84
1 put the stuff on-level, and most of that isto 1 between how the private passenger, commercial,
2 put thingsinto perspective, and just for a 2 inter-urban, therewas a template, if you
3 second, | do want to maybe focus allittle bit 3 want, for that processand it was a process
4 0N some average premiums, particularly row 5, 4 very similar to what you're seeing here, and
5 theseareat current rates. So the average 5 then there was another process that was a
6 premium that we charge right now on average, 6 simplified indication worksheet that worked
7 as estimated for third party liability isjust 7 through for public classes and the
8 over $2,800.00. If we could just slide over a 8 miscellaneous, and taxis fall into public
9 bit to another column because | want to make 9 class. When we adopted our approach, we
10 surethat things arein perspective. For 10 adopted a single approach across all
11 accident benefits, we charge $80.00, and for 11 jurisdictions, al classes of business. So
12 uninsured automobile it's $14.00. So as we 12 while we tweak and try and improve the trend
13 talk about some of - you know, your accident 13 model that we have, this trend model is
14 benefitsand uninsured automobile, the rate 14 applied acrossall jurisdictions and it's
15 indications are very large, but when you're, | 15 applied across al classes of business. One
16 guess, quadrupling a $14.00 level, you're 16 of the things that we had to look at was that
17 getting up to something short of $60.00. Just 17 there were different approaches on what the
18 keep that in mind, percentages, when you're 18 full credibility standard should be, and what
19 talking about small bases, doesn’'t necessary 19 we' ve adopted again across the board is that
20 trandlate into large dollars, but we will 20 if we haven't done arate filing for that
21 focuson thethird party liability because 21 particular class in thelast two or three
22 that’ s where 92 percent of the premium is and 22 calendar years, then we start with the
23 that’swhere thefocus of our activity is. 23 assumption that therates are adequate, the
24 Although there arelarge percentage changes 24 expiring rates are adequate for that period
25 being talked about for accident benefits and 25 and we start from that position. If we have
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1 had arate filing within the last two to three 1 apply a premium trend to get to a new loss
2 calendar years, then we start from the 2 ratio that we believe isat current rates.
3 position that our best estimate of the project 3 Those are the stepsthat arereflected in 9,
4 lossratio can be pulled from that previous 4 10, 11, 12, and 13, to get youto - sorry,
5 filing. That'sagood solid estimate based on 5 thisis before we do the trending. So thisis
6 what that review suggested for the average 6 just getting you to the on-level premium, Row
7 period, and we're just going to take that as 7 14, so this shows you the nominal loss ratios
8 our initial estimate and project it forward 8 at the current rates reflecting rate changes
9 based on claims trends and premium trends, and 9 that we actually got. Then 15 to 21 istaking
10 wedo that through Exhibit C-2. Soif we 10 - 21 isour ultimate goal in this process, but
11 could, I'll just take usquickly to C-2. 11 15 to 20 adjustsfor loss cost trend and for
12 There's a couple of rows here | kind of want 12 premium trends. So losscost trends, if
13 to highlight. I think the main one | want to 13 they’'re positive, they drive up the loss
14 start withis actualy Row 8. Row 8 is 14 ratio. Premium trends, if they’re positive,
15 projected ultimate loss ratio nominal prior to 15 drive down the loss ratio, and we're doing the
16 rate change. In our ideal world, that just 16 trend period between the average dates between
17 comes directly from the result we had before. 17 the periods - it’s not exactly one year, it's
18 The previous analysis, though, was completed 18 actually 396 days, and wetake that into
19 by our partner, Eckler, and they were using a 19 account. So we end up with a projected loss
20 different approach, and so going forward it's 20 ratio at current rates that’s consistent with
21 very easy for usto drop thisin because it 21 the previous filing, our previous indication,
22 comes right out of our C-1 Exhibit, but we had 22 coming from our previous indication as we
23 to determine what that was through this 23 previoudly filed. So that’s how we arrived at
24 process because thisisour starting point, 24 that 97.8, and that shows up in Exhibit C-1 as
25 what is the projected ultimate |oss ratio from 25 our complement of credibility. Now one of the
Page 86 Page 88
1 aprior analysis prior to the rate change that 1 points Oliver Wyman suggests is that we should
2 we got from that filing process. So the first 2 not be using the loss ratio that’s coming from
3 part going from Rows 2 through to 7 is an 3 the previous analysis, we should be using a
4 attempt to convert the previous one to this 4 loss ratio that’s consistent with the
5 idealized state, Row 8, and as the Consumer 5 assumption that our rates are currently
6 Advocate when they did their review they 6 adequate. | think as we looked at some of
7 identified in Column 2 that we had actually 7 those loss charts, loss cost charts, we're
8 started from the wrong spot, we had picked up 8 looking at what are the implications of if our
9 from the previous analysisa lossratio that 9 rates are currently adequate, what does that
10 we thought was discounted in that one, it was 10 imply of loss cost. | think it’s very hard to
11 not discounted - sorry, we thought it was 11 make an assumption that our rates are
12 discounted, it was not discounted, and as they 12 currently adequate. There's two things -
13 pointed out, we agree with them, and so there 13 there's six things that you really want
14 isadditional set of indications based on a 14 credibility of complement to have, but two I'm
15 correctionto that. | apologizefor that 15 going to focus onisit’s not biased, that is
16 error. Nonetheless, the processis still the 16 that if you look at the results after you've
17 same. What we'retrying to get toisto Row 17 done your predictions with your full
18 8, and we get to a different Row 8 when we do 18 credibility - your complement of credibility,
19 that correction. So we start with the 19 and you look at the results, half thetime
20 ultimate loss ratio that was determined 20 it's better and half the timeit’'s worse than
21 through the credibility weighting process from 21 your prediction based on those, but it's
22 the previous one, and then we're going to do 22 unbiased. You know, sometimes it's better,
23 two things. One, we want to reflect the rate 23 sometimes worse, but overall it's unbiased.
24 changesthat we got after that rate review, 24 The second pieceisthat it's accurate, that
25 and then we want to apply aclaimstrend and 25 it givesyou agood reflection of what those
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1 levels are. So the difference between 1 different weight. Wejust usethat total

2 unbiased and accurate, unbiased just tells you 2 column, the weights we're using are the
3 the variance around what the level is. So you 3 premiums distributed at the top there. | just

4 can have two estimates that are unbiased; one 4 want to highlight in case somebody was
5 that swings quite far fromit, and you have 5 wondering there was some sort of mistake
6 onethat’s narrow. The narrow one is more 6 because it’s 153 in one place and it’s 1525

7 accurate. They're both unbiased, they both go 7 in another, but it'sjust aweighting issue.

8 up and down theline, but the narrow oneis 8 Okay, so under Row 9 then isthe credibility
9 more accurate and we want onethat isboth 9 that we've assigned to the results, and you
10 unbiased and accurate. | don’t believe, based 10 would go to Exhibit E-1 for that. 1"m not
11 on thereview of the experience, that either 11 going to ask us to goto E-1, but the other
12 of the proposed - either of the complements of 12 issuethat was raised in the Oliver Wyman
13 credibility that are proposed are unbiased, 13 Report was that for third party liability, we
14 and | don't believe they're accurate with 14 moved from a credibility standard of 54.10, |
15 respect to - in relation to the experience 15 believe, down to 32.46, | think that’s the
16 that the taxis have had for usover the last 16 right number. Both of them arebased on a
17 ten years. Both of them suggest the loss cost 17 standard that’ s used in Canada of 1.082 claims
18 should be much lower than they have been. 18 gives you acertain probability of being
19 That is, either we'vehad 10 or 12 years of 19 within acertain level of comfort, that your
20 bad luck, or the current ratesreally aren’t 20 claims count isgoing to be closeto what
21 adequate, and that’ s not a good assumption to 21 you're hoping it would be. The multiplier
22 have. Both of them are showing levelsthat 22 that you use in relation to that 10. 82
23 aresignificant below. It'sjust that this 23 standard, | believe, is based on actud
24 one, in particular, for lossratios in Row 14 24 judgment. There are ways of determining a
25 for third party liability, we start off at 25 multiplier. That’swhat was used historically

Page 90 Page 92

1 93.8, and we would be inthe 68 or 70, or 1 that our previous partner, Eckler, had done a
2 something like that if the rates were 2 study and they determined an estimated
3 adequate. So, obvioudly, if the higher oneis 3 multiplier for, | believe, bodily injury to

4 biased - or not accurate becauseit’s always 4 come up with the full credibility standard

5 below, and biased because it's dways below, a 5 that was previously used. When | took over
6 lower one is even going to be worse. So 6 the process of the pricing, | made an actual

7 that’ s our position on the two complements of 7 judgment of application across all

8 credibility that are being proposed. We 8 jurisdictions for setting the full credibility

9 believe both are not great, but ours, we 9 standards that | feel comfortable with for
10 think, is more supported if you look for the 10 each individual coverage, and generally, I've
11 goal of being accurate and unbiased. So | 11 split the coveragesinto what | call "long

12 want to go back to C-1 then. So under Row 7, 12 tail" and "short tail", and thelong tail

13 we have that lossratio that wethink isthe 13 coverages | have at 2 times the 10.82, and for
14 underlying one. Then what we're going to use 14 the short tail, | have at 1 timesthe 10.82,

15 asour experienceisthe lossratio we got 15 and it's based on my judgment and my
16 from D-1. In this casefor third party 16 assessment of my comfort level with the amount
17 liability, we're bringing forward the 17 of credibility that we can apply for short

18 projected loss ratio of 143.8. Now the one we 18 tail and long tail.

19 werelooking at and we focused most of our 19 (12:45P.M.)
20 attention on for in D-1 wasthe total, al 20 So Row 10 isjust acredibility weighting then
21 coverages. This oneisjust focused onthe 21 based on the credibility that 1I’ve assigned
22 third party liability, and, infact, if you 22 for each of those based on claim counts. The
23 get over tothetotal, we seea total loss 23 determination of the amount of credibility is
24 ratio of experience at 152.3. That's 24 shownin E-1. I'm not going to go through
25 different than D-1 because you'reusing a 25 that exercise. That's just a straight

Discoveries Unlimited Inc., Ph: (709) 437-5028

Page 89 - Page 92




November 6, 2014

Multi-Page™

Verbatim Court Reporters

Page 93 Page 95
1 calculation once you' ve determined your full 1 October 31st, 2013 and the weights are driven
2 credibility and what you' ve determined your 2 by the estimated durationsrequired for the
3 claim counts are. Under Rows 11, 12, 13, and 3 cash flows associated with the claims
4 14, our first two in this one here now we're 4 payments. As you can seeinthis chart and
5 projecting our lossratiosfor indemnity. | 5 I’1l focus on column 3, the average maturity,
6 also want to include legal expenses here, and 6 duration to maturity for our cash flows is
7 | want adiscount. The discount rate you'll 7 around three years, so on average you're
8 seehereisat 1.14, and I'll talk about that 8 between column 2 and column 3 when you're
9 inalittle bit. Sothe first thing that we 9 looking at yields and we usethe risk free
10 do as discount factor - in fact, I'll go there 10 determination because under current capital
11 now. Let'sgoto F-1. It'son page 67 of the 11 requirements, if you move off of risk freein
12 report. Thisisanother issue that was raised 12 your asset portfolio, then you have to put up
13 that - 13 capital to support the riskiness of your asset
14 CHAIRMAN: 14 choices, and we don’t have a determination for
15 Q. We're at quarter to 1, Mr. Stamp. 15 that, sowe start off with risk free and
16 STAMP, Q.C.: 16 assuming that there’s no additional capital
17 Q. Wecan break right now or inamoment, it 17 required to support the business, to support
18 doesn’t matter. It'sjust as convenient to do 18 your selections of assets to support the cash
19 that right now if you prefer. 19 flows. And we're assuming that in this case,
20 CHAIRMAN: 20 the actual process iswe gather up the premium
21 Q. Wecan break now? 21 from, inthis casethetaxi drivers, we pay
22 STAMP,Q.C.: 22 immediate expenses as we need them and then
23  Q.Yes 23 the cash is handed to our membership, who then
24 CHAIRMAN: 24 can invest it any way they feel, but they are
25 Q. Okay. 25 obliged to give back the money aswe need it
Page 94 Page 96
1 STAMP,Q.C.: 1 back to settle, ultimately settle the claims.
2 Q. And we aregetting closer, Mr. Chairman, 2 And through the process because we do no
3 Commissioners, to finishing on the Direct. 3 include a cost of capital inour ratesfor
4 CHAIRMAN: 4 taxiesin Newfoundland, it basically means
5 Q. We'regetting closer. 5 that there’s no additional return in the
6 STAMP,Q.C.: 6 process for profit that would be handed to the
7 Q. Yes Veryclose, | should say. 7 membership, that is the premium that we gather
8 CHAIRMAN: 8 and the investment incomethat is, riseson
9 Q. Yes, let ushope so. 9 the premium is assumed to be sufficient to pay
10 (12:47 P.M.) 10 for al the claimsand pay for the expenses,
11 (RECESS) 11 but leave nothing left over to hand to the
12 (1:15P.M) (RESUMED) 12 membership for their provision of capital to
13 CHAIRMAN: 13 support thebusiness. And so when we're
14 Q. Okay, Mr. Stamp, | think we' re back with you. 14 setting therates, we--it's a perspective
15 STAMP, Q.C.: 15 exercise and we need to look at what we think
16 Q. Yes, andwe weregoing to exhibit F, Mr. 16 are rates that you can get on new money going
17 Chairman. Mr. Doherty, you wanted to tie 17 forward. | just wanted to highlight in
18 exhibit Fin, it refers back from exhibit C, 18 columns 2 and column 3, there'sa dramatic
19 isit not? 19 changein theyieldsthat you could get at
20 MR. DOHERTY: 20 around the time of the financial crisis, 2007,
21  A.Yes, sothisisthe derivation of our return 21 2008. Soincolumn 3 you'll seethethreeto
22 assumption. Our return assumptionis 1.14 22 fiveyear, up to 2007 they were generally
23 percent, it's derived through aweighting of 23 increasing up to 4.21 percent. These
24 yields of various durations of therisk free 24 statistics aretaken from the Canadian of
25 Government of Canadabonds available as at 25 Actuaries Annual Report on Statistics and then
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1 they start to decline pretty rapidly down to 1 And the reason we show it asindemnity is
2 2012 where they’re down to 1.3. A little bit 2 because when we put it together, we're just
3 further down on the page we show the current 3 multiplying it in there, so we end up with, in
4 yields that we used as the basisfor our 4 the case of BI, the credibility weighted |oss
5 determination, the five year at that time was 5 ratio with indemnity when we discount itis
6 1.52, the three year was 1.09 and so based on 6 114 percent. When you put in this 3.7 percent
7 again, our payment patterns, weassumed a 7 additional costs associated with excesslegal,
8 weighted average return of 1.29, there are 8 it getsup to 118.5 percent. We are going to
9 investment expenses associated with it when 9 compare then that loss ratio, projected loss
10 you are using an intermediary to purchase the 10 ratio to the amountsthat we believe we need
11 bonds on your behalf and manage the portfalio, 11 to cover off our costs, so the first thing we
12 we have that as 15 basis points, so it returns 12 would take into accountis that we're not
13 anetyield of 1.14. Wedo understand that 13 going to collect al the premium upfront.
14 through the Board’ s filing requirements there 14 There' s going to be adelay in collecting the
15 isarange that they find reasonable on the 15 premium and so we discount based on the cash
16 yield, | believeit's 2.8 to 4 percent. That 16 flows associated with the collection of
17 would be another assumption that | would have 17 premium.
18 to putinto my process and then not take 18 STAMP, Q.C.:
19 responsibility for it, but as I’'m providing 19 Q. Isthat Row 15.
20 guidance to management, | will come up with 20 MR. DOHERTY:
21 indications based on the new money yield that 21  A.ThatisRow 15, correct. Fixed expenses are
22 | think would be appropriate that you could 22 reflected in Row 16. The expense structures
23 get in the time that we' re projecting forward 23 and all the expenses are in exhibit G-1. I'm
24 toand that's how we derived it, although 24 not going to take usthere. | think they are
25 management did recognize the filing 25 pretty straightforward and as | understand it,
Page 98 Page 100
1 requirements and the ranges associated with 1 there was no concern necessarily about any of
2 that. Sowe also provided for management an 2 our fixed expenses, other than the health care
3 aternate indication using a 2.8 percent net 3 levy which we talked about earlier where we
4 yield and the management’ s recommendations of 4 did not include and we fedl it’'s appropriate
5 proposed rate changeswere based on that 5 not to include it because it’ s not an expense
6 aternate indication that we provided to them. 6 that is due based on the--for the taxies. Row
7 I would just emphasize that | don’'t believein 7 17 iscommissions and the commission rateis
8 the current environment, you can get arisk 8 established in the Plan of Operation whichis
9 free portfolio put together that would 9 approved by the superintendent. The
10 generate a 2.8 percent return and | don’'t 10 discounted variable expenses includes premium
11 anticipate that that’ s going to change between 11 tax that a servicing carrier non claims fees,
12 now and when the new rates would be effective. 12 we separate out the claims fees from the non-
13 So if we could go back to C-1 then. So all of 13 claimsfees. Thepremium tax isas per the
14 our work to date or all the discussion so far 14 government requirement. Servicing carrier
15 has really been on just indemnity. We do have 15 fees are established in the plan of operation.
16 what’sreferred to as excess legal. Thisis 16 Again as approved by the superintendent and
17 claims adjudication costs that the servicing 17 have the weight of law, | suppose, in behind
18 carriersare allowed to get compensated for 18 it. Row 19 isthe, what werefer to asthe
19 outside of the fee structure that we havein 19 initial claims expensefee. Claims expense
20 place for them. We have an estimate for that. 20 fee that we pay to the servicing carrier is
21 That estimate of 3.7 is inrelation to the 21 based on asdliding scale, soit dependson
22 indemnity, it’snot in relation to premiums, 22 what theloss ratio turns out to be and
23 soif you'relooking at that and trying to 23 there'sarangethat we pay themon. Sowe
24 determine what the ratioisto premium, you 24 start off with acertain level, but then we
25 have to make an adjustment to reflect that. 25 will adjust it based on what the lossratio
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1 is. If thelossratio islower than acertain 1 MR. DOHERTY:
2 level, we will claw back some of the feeswe 2 A.ldid, sothat’sshownin alternate C-1, it's
3 pay them. If it'sabove acertain level, we 3 on page 73.
4 will pay them more and theideaisto in some 4 STAMP, Q.C.:
5 way, | guess, try and keep the level of 5 Q.ICL
6 compensation somehow consistent with the work 6 MR. DOHERTY:
7 effort associated with adjudicating the 7 A.IcL sointhiscaseif we goto Row 29, all
8 claims. Andthen finally in Row 21, here we 8 of the work here that is ona2.8 percent
9 would have, redly it's the return from 9 return and the indication in Row 29 for third
10 underwriting that would be required on the 10 party liability is67.3. And in the case of--
11 basis consistent with our return assumptions. 11 this also showswhat management has proposed
12 So the rate indication then isa straight 12 and that'sin Row 34. They had proposed to
13 calculation, that’s done in, shown in Row 22 13 cap the rate change for third party liability
14 and it showed in Row 22 we're focused on the 14 at 50 percent, soinstead of taking the 67. 3
15 Board' s original target, which isa 12 percent 15 that would be indicated if you hada 2. 8
16 after tax return on equity, assuming a capital 16 percent return, they proposed a50 percent
17 level that's consistent with a twoto one 17 rate increase.
18 premiumto capital ratio, so if we wereto 18 STAMP, Q.C.:
19 include a profit provision that is the target 19 Q. Isthere anything further, Mr. Doherty, that
20 for the Board of Directors Facility 20 we need to add from exhibit C?
21 Association for athird party liability, the 21 MR. DOHERTY:
22 rateswould need to go up by 95.6 percent. 22 A.No, | don't believe so. | havejust focused
23 However we recognize that a cost of capital is 23 on the third party liability, it's obviously a
24 not allowed for Facility Association rates and 24 total overall rate level change that's
25 sowe have an alternate set of assumptions 25 determined based on the weights by coverage.
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1 where we reflect that alternate rate change 1 STAMP,Q.C.:
2 basis. 2 Q. Isthereanything else you need to add then,
3 STAMP, Q.C.: 3 Mr. Doherty?
4 Q. To?29? 4 MR.DOHERTY:
5 MR. DOHERTY: 5 A. No, I'm finished, thank you.
6 A.That's Row 29. And so for third party 6 STAMP,QC:
7 liability then under that basis where you do 7 Q. We'redone, Mr. Chairman.
8 not have a return being generated for the 8 CHAIRMAN:
9 capital provider, al of the cash flowsthen 9 Q. Thank you, sir. | guess, Mr. Johnson, it's
10 are really, including the investment incomeis 10 now your turn.
11 used to pay for expenses and pay for claims, 11 JOHNSON, QC:
12 that’ sreflected in the indication shownin 12 Q. Yes, Mr. Chair.
13 Row 29 and for third party liability, that’s 13 MR. SHAWN DOHERTY, CROSS-EXAMINATION BY TOM JOHNSON, Q.C.
14 75.4 percent. 14 JOHNSON, QC::
15 STAMP, Q.C.: 15 Q. Mr. Doherty, just to start off talking about
16 Q. That'stheindicated rate. 16 the trending model that you've developed at
17 MR. DOHERTY: 17 the Facility Association. Your actuaria
18 A. That'stheindicated rate change to get a zero 18 report indicates that you've developed anew
19 cost of capital return, so zero return on 19 trending model internally at the Fa with the
20 premium, that's justto pay for al the 20 help from an external actuarial service
21 expenses, assuming that you're going to get a 21 provider, and how new a trending model is
22 1.14 percent return on investment income. 22 that, Mr. Doherty?
23 STAMP, Q.C.: 23 MR.DOHERTY:
24 Q.Anddid youalsodo anindicator ratewith 24 A. Wefirst built theinitial, | guess, version
25 2.8? 25 of itin 2011 and then weworked on it
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1 throughout 2011, 2012, implemented the use 1 A.Yes
2 really in 2013. 2 JOHNSON, Q.C.:
3 JOHNSON, Q.C.: 3 Q. Okay, and so what were the departures from the
4 Q. Sointermsof whenitwasputinto use, in 4 previous approach that were ushered in with
5 termsof regulatory filings, it would have 5 this new model ?
6 been 2013? 6 MR. DOHERTY:
7 MR. DOHERTY: 7  A.Regressionisregression, so | mean, those are
8  A. |l think there was some regulatory filings that 8 just calculations. | think wherel would
9 weused it in in support of for 2012, but | 9 suggest | find thismodel abit superior is
10 can't recall exactly. 10 it'seasier to create different periods and
11 JOHNSON, Q.C.: 1 treat it as one complete model. | believe,
12 Q. Okay, and this involved a new software 12 and I’'m not absolutely certain on this, but |
13 package? 13 believe Eckler’s previous model if you wanted
14 MR. DOHERTY: 14 to deal with aproduct reform, for instance,
15 A.No, it'sbased on Excel. 15 you would have to adjust the data, as opposed
16 JOHNSON, Q.C.: 16 to our model where you don’t have to adjust
17 Q. Based on Excdl. 17 the data, you can usethe scaleto movethe
18 MR. DOHERTY: 18 stuff around. But they did use multiple
19 A.Yes 19 periods, they did havethe ability to use
20 JOHNSON, Q.C.: 20 multiple periodsand 1 think they also used
21 Q. Okay, and wasthe new trending model, was it 21 unemployment as a potential variable as well.
22 used last year in your Facility Association’s 22 (1:30P.M.)
23 taxi filing? 23 JOHNSON, Q.C.:
24 MR. DOHERTY: 24 Q. The external actuarial service provider that
25  A. No, the one prepared by Eckler, no, they had 25 was, helped you devel op, was this Eckler?
Page 106 Page 108
1 their own internal model. 1 MR. DOHERTY:
2 JOHNSON, Q.C.: 2 A.No,itwasErnst & Young.
3 Q. Okay. And you're aware that there's been a 3 JOHNSON, Q.C.:
4 couple of decisions from the Nova Scotia Board 4 Q. ltwasErnst & Young, okay.
5 that have been identified, you’ve seen those 5 MR. DOHERTY:
6 two decisions. Therewas an October 23rd 6 A.Theinitial one was based on amodel that KPMG
7 decision having to do with miscellaneous 7 used in Ontario, Alberta and the Territories.
8 vehiclesin Nova Scotia. 8 We modified it and then continued to modify it
9 MR. DOHERTY: 9 to make it easier to pull datain from the
10 A.Yes 10 valuation processes and then help the analyst
11 JOHNSON, Q.C.: 11 to work through the analysis piece.
12 Q. Andfor facility and | think a September 22nd 12 JOHNSON, Q.C.:
13 decision from the Nova Scotia Board, you've 13 Q.| understand that there is a fairly
14 seen that one in relation to private 14 significant difference in this application to
15 passenger. 15 the Board, facility application to the Board
16 MR. DOHERTY: 16 and last year’ staxi filing having to do with
17 A.Yes 17 the use of the underlying severity data.
18 JOHNSON, Q.C.: 18 MR. DOHERTY:
19 Q. For those filings was the new model used? 19 A.Yes
20 MR. DOHERTY: 20 JOHNSON, Q.C.:
21 A.Yes 21 Q.And could you outline to us what the
22 JOHNSON, Q.C.: 22 difference is between the two applications?
23 Q. Okay, and what were the departures, and | take 23 MR. DOHERTY:
24 it thismodel was about trending primarily? 24  A.Asl understand it with respect to Eckler's
25 MR. DOHERTY: 25 when they did their modelling for
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1 Newfoundland, they did private passenger first 1 question askedin 4(a) isexplain why FA
2 and they did frequency and severity. They 2 considers the private passenger severity
3 determined models that they thought were 3 trendsrelevant to thetaxi experience, but
4 appropriate for both of thosetwo metrics. 4 commercial experience relevant to the
5 When they went to do commercial, they felt 5 frequency trend? Andif you could just go
6 comfortable with the model they were ableto 6 over to Facility’s answer last year for (a),
7 generate based on frequency, but for severity, 7 it states, "As mentioned in the filing
8 because of thelevel of volatility, they 8 document, trend assumptions for taxies are
9 didn't feel comfortable with the parameter 9 based on an analysis of Newfoundland and
10 that was being produced in their modelling. 10 Labrador commercial vehicles experience. In
11 So instead, they used the severity trend that 11 the case of the bodily injury severity trend,
12 came out of the private passenger. 12 no satisfactory statisticaly significant
13 JOHNSON, Q.C.: 13 model could befound based on commercid
14 Q. So wouldyou confirm thatin last year's 14 vehicles data, so the private passenger
15 Facility’s Application that Facility was of 15 selected bodily injury severity trend model
16 the view that the bodily injury severity--for 16 was adopted.” And can you recall now that
17 the bodily injury severity trend, there was no 17 being the case for last year?
18 satisfactory statistically significant model 18 MR. DOHERTY:
19 which could be found based on the commercia 19  A. | takethe answer as accurate, yes.
20 vehicles' dataand so therefore, the private 20 JOHNSON, Q.C.:
21 passenger was used. Could you confirm that? 21 Q. Okay, and so this application that was filed
22 MR. DOHERTY: 22 by Facility is not that long ago and what has
23 A.lcan't confirm the exact thought processes 23 happened over that period of timeto go from a
24 behind the actuarial determination of that, 24 situation where Facility didn't find the
25 but their end result was they used the private 25 commercial experience dtatisticaly
Page 110 Page 112
1 passenger trend. 1 significant or reliable enough to use but you
2 JOHNSON, Q.C.: 2 can useit now?
3 Q. Justtoget clarification onthe point, Mr. 3 MR. DOHERTY:
4 Doherty, if | could address your or ask you to 4 A.lbelieve and | could bewronginthis, but |
5 direct your attention, rather, to, it salist 5 think if you look at the private passenger,
6 of information, No. 9. 6 they actually selected the severity trend over
7 MS. GLYNN: 7 along period, | think it was, | think it was
8 Q. Just one second, that one hasn’t been entered 8 quite aperiod. When we did our analysis, we
9 yet. 9 split into two different periods, so pre and
10 JOHNSON, Q.C.: 10 post 2004 and through our testing, we did find
11 Q. Oh, I'm sorry, okay. 11 that there was a difference in thetrend and
12 MS. GLYNN: 12 that it was statistically significant and we
13 Q. So that would be the responsesto ow 1, 13 could useit.
14 Information Request dated February 6th. 14 JOHNSON, Q.C.:
15 JOHNSON, Q.C.: 15 Q. Sointhe previousfiling, therewas no such
16 Q. Yes, that's correct, Ms. Glynn. 16 split at 2004, | take it?
17 MS. GLYNN: 17 MR. DOHERTY:
18 Q. We'll enter that on the record. 18 A.Notto my knowledge, no, and I'm not sure
19 JOHNSON, Q.C.: 19 their model facilitated the ability to do
20 Q. Okay, thank you. If you could bring up page 20 that, I’m not sure.
21 3. 21 JOHNSON, Q.C.:
22 MS. GLYNN: 22 Q.Andhow long--and that was Eckler Partners,
23 Q. puB document, No. 9. 23 was that Mr. Perry?
24 JOHNSON, Q.C.: 24 MR. DOHERTY:
25 Q. If you could goto question No. 4, the 25  A.That'scorrect, it was Eckler Partners, yes.
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1 JOHNSON, Q.C.: 1 therewas a number of different views and
2 Q. Yes, okay. And how long have they been your 2 interpretations put forward that ultimately
3 external actuaries, Facility’ s? 3 you have to choose what you're comfortable
4 MR. DOHERTY: 4 with?
5 A.I'mnot exactly sure exactly how long they 5 MR. DOHERTY:
6 were. 6 A.Yes
7 JOHNSON, Q.C.: 7 JOHNSON, Q.C.:
8 Q. Morethanten years? 8 Q. Okay. Andare actuaries something akin to
9 MR. DOHERTY: 9 economiststhat you ask, you know, threeor
10 A.l believeit’'s morethan ten years, but I’'m 10 four economists, you'd get three or four
11 not certain on that. 11 different view points, interpretations of
12 JOHNSON, Q.C.: 12 data?
13 Q. Mr. Doherty, you testified yesterday that 13 MR. DOHERTY:
14 there were a number of people in your 14 A Yes
15 organization and outside the Facility 15 JOHNSON, Q.C.:
16 organization who haveinput on the trend 16 Q. Doyou find the same in the actuarial world?
17 analysis and you indicate that there was work 17 MR. DOHERTY:
18 done and input by an internal analyst and then 18 A.Yes
19 it cameto you and then Ernst & Y oung would 19 JOHNSON, Q.C.:
20 also come back with viewson the selections 20 Q. This application, as | understand it, was
21 and as you put it, they may throw in some 21 authorized to befiled by your Board of
22 options of their own and then you come up with 22 Director on the 6th of March of 2014.
23 management’ s recommended trend, and then it 23 MR. DOHERTY:
24 goesto your members actuary, | take it those 24 A.Yes.
25 would be your service provider’'s actuaries? 25 JOHNSON, Q.C.:
Page 114 Page 116
1 MR. DOHERTY: 1 Q. Andsowhen would the actual preparation of
2 A.No, it'san actuarial committee that’s made up 2 thefiling had gotten underway to meet that
3 of senior actuaries of the membership itself 3 March 6th filing?
4 that act as an advisory committee to 4 MR. DOHERTY:
5 management. 5 A.l believe we started in September, I'm not
6 JOHNSON, Q.C.: 6 absolutely--our general processisthe data
7 Q. Okay, and so there would be a number of those 7 becomes available sometimein June, during
8 actuaries? 8 the summer wedo thetrend analysis piece.
9 MR. DOHERTY: 9 Typicaly in either July or August we start
10 A.Yes | believe at thetime--1 believe there 10 with Ontario and then we go through al the
11 was ten, butthere may have been twelve 11 jurisdictions. We do all classes of business
12 actuaries on the committee at that time. 12 for ajurisdiction. Generally one per month,
13 JOHNSON, Q.C.: 13 so rate level indications, we do something in
14 Q. Okay, and so that’s the process that the 14 the neighbourhood of 20 or 25 per month over a
15 application that the Board hasin front of it, 15 six-month period.
16 inthisfiling, that’sthe process that was 16 JOHNSON, Q.C.:
17 followed herein this case? 17 Q. Andat any point inthat process, did you
18 MR. DOHERTY: 18 give--did Facility give consideration to using
19  A.Yes, but the ultimate selection is my work. 19 the Board' s approved trend rates as supported
20 JOHNSON, Q.C.: 20 by their consulting actuaries, Oliver Wyman
21 Q. But the ultimate selection - 21 and published to the insurers in the Province?
22 MR. DOHERTY: 22 MR. DOHERTY:
23 A. | takeresponsibility for the work, yes. 23 A.Aspartof thetrending process, we do try,
24 JOHNSON, Q.C.: 24 like I did here, not so much to replicate the
25 Q. That'sright and so you sign off onit. So 25 analysis, but just look at, say the minus 1.5
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1 and fitit on the datato seewhat it looks 1 MR. DOHERTY:

2 like, but thereis no model that | believe was 2 A.No.

3 consistent with that asfar as| recall, but 3 JOHNSON, Q.C.:

4 I’m not sure. 4 Q. How many member insurers would Facility have,
5 JOHNSON, Q.C.: 5 Mr. Doherty?

6 Q.So didyou gothrough an analysisof the 6 MR. DOHERTY:

7 Board's - 7 A.Actua number of members?

8 MR. DOHERTY: 8 JOHNSON, Q.C.:

9  A. Trying to replicate that approach? No. 9 Q. Likeinsurer members, insurance companies that
10 JOHNSON, Q.C.: 10 participate through Facility?

11 Q. Youdidn't? 11 MR. DOHERTY:

12 MR. DOHERTY: 12 A.ldon't know that number off thetop of my
13  A.No. 13 head, | apologize.

14 JOHNSON, Q.C.: 14 JOHNSON, Q.C.:

15 Q. You've only done that here during this 15 Q. Okay. Have you made any inquiries from the
16 hearing, | takeit? 16 insurers who are members, who are affiliates
17 MR. DOHERTY: 17 of Facility, as to which of these companies

18  A. Correct. 18 utilize the Board's guidelines in their

19 JOHNSON, Q.C.: 19 filings tothe Board for their automobile
20 Q. Yesterday you indicated that you couldn’t take 20 insurance rates?
21 responsibility for or ownership of actuarial 21 MR. DOHERTY:
22 work that’s underlying the Board’ s directives, 22 A.No.
23 do you recall that statement? 23 JOHNSON, Q.C.:
24 MR. DOHERTY: 24  Q.Haveyou madeany inquiriesfromany other
25 A.Yes 25 insurers, besidesyour members, asto the

Page 118 Page 120

1 JOHNSON, Q.C.: 1 usage or utilization of the Board's approved

2 Q. Andyouindicated that therewas not enough 2 trend rates?

3 information provided for you torely on the 3 MR. DOHERTY:

4 trends. 4 A.No.

5 MR. DOHERTY: 5 (L:15P.M.)

6 A. Correct. 6 JOHNSON, Q.C.:

7 JOHNSON, Q.C.: 7 Q. Mr. Doherty, you spoke a bit colourfully

8 Q. Butl take it now, for the sake of clarity, 8 yesterday of what | took to be a

9 that you are not saying that Oliver Wyman's 9 characterization of how you saw Oliver Wyman's
10 work is unreasonable, but rather a fair 10 work and you indicated that you were speaking,
11 interpretation is that you’ re saying that you 11 asyou put it, as somebody who built actuarial
12 would do it differently, would that be 12 practices and you said, "I could have my guys
13 correct? 13 build this process, it would take a couple of

14 MR. DOHERTY: 14 days, I'm sure our analysis would take 15 or

15 Al certainly do it differently, yes. 15 20 minutes to do because it’s very mechanical.
16 JOHNSON, Q.C.: 16 You identify the outliers upfront, you do

17 Q. Okay. Andisthere anythingin the Oliver 17 forward regressions, you get the results out

18 Wyman analysis of trend ratesthat would be 18 and average it against the one you had

19 contrary to actuarial standards of practice? 19 before." Do you recall making that statement?
20 MR. DOHERTY: 20 MR. DOHERTY:

21 A. Not to my knowledge. 21 A.Absolutely, yes.

22 JOHNSON, Q.C.: 22 JOHNSON, Q.C.:

23 Q. lIshereanything in FA's analysisthat would 23 Q.Do you know, Mr. Doherty, whether this
24 be contrary to actuarial standards of 24 mechanical description applies to what Oliver
25 practice? 25 Wyman actually didin coming up with their
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1 recommendations? 1 MR. DOHERTY:

2 MR. DOHERTY: 2 A Yeah, | can seethat argument, yes.

3 A.No, based on the report that's my 3 JOHNSON, Q.C.:

4 understanding of the process. 4 Q. Andisthere anything wrong with giving more
5 JOHNSON, Q.C.: 5 weight to more recent data as an exercise of

6 Q. Okay, al right. And| take it that you did 6 actuarial judgment?

7 not, throughout this process, ask Oliver Wyman 7 MR. DOHERTY:

8 for any of its background data or work 8 A. It dependson the application.

9 processes or thought processes as to how they 9 JOHNSON, Q.C.:

10 arrived at their report? 10 Q. Don'tyour trend selectionsrely more on the
11 MR. DOHERTY: 11 latest eight years, for instance, as opposed

12 A.No. 12 to the earlier 12 years of the 20 year

13 JOHNSON, Q.C.: 13 regression period?

14 Q. But atthe end of the day, yourself, Ms. 14 MR. DOHERTY:

15 Elliott, Oliver Wyman, her firm, you're both 15 A.Only to the extent that we focused our

16 trained actuariesand | takeit you're both 16 attention on that because our indication was
17 applying actuarial judgment, correct? 17 based--the weight we were giving it, our
18 MR. DOHERTY: 18 indication was focused on the most recent five
19 A. Correct. 19 years. |f we were going to use more years, we
20 JOHNSON, Q.C.: 20 would spend more time making sure that our
21  Q.Andat the end of theday, you are using 21 trend analysis reflected the period we
22 trending modelsthat you each deem to be 22 intended to use inthe experiencefor our
23 appropriate on practically the same data, with 23 indication.
24 the exception of whether it includes 24 JOHNSON, Q.C.:
25 adjustment expenses over indemnity. 25 Q.Butat theend of the day, you doend up
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1 MR. DOHERTY: 1 giving more weight to the more recent

2 A lcan't speak for Ms. Elliott, but that’s 2 experience.

3 certainly the case for me. 3 MR. DOHERTY:

4 JOHNSON, Q.C.: 4  A.l wouldn't characterize it that way, no.

5 Q. Okay, and Mr. Doherty, yesterday you werel 5 JOHNSON, Q.C.:

6 think somewhat critica of Oliver Wyman's 6 Q. Wdl you'renot giving any weight, | takeit,

7 report for considering both afive and ten- 7 or areyou, to thefirst 12 yearsof the 20

8 year trend on the basis that on averaging 8 year analysis period?

9 those, on the basis that you considered to be, 9 MR. DOHERTY:

10 asyou termed it, resampling. And you recall 10 A. Withthetrend anaysis?

1 that? 11 JOHNSON, Q.C.:

12 MR. DOHERTY: 12 Q. Yes

13  A.Yes 13 MR. DOHERTY:

14 JOHNSON, Q.C.: 14 A.I'mnot giving any particular weight to any
15 Q. And, Mr. Doherty, whileyou refer to it as 15 particular period. I’m doing aregression on
16 resampling, in essenceisn't it merely a means 16 al of it. | did spend moretime on making

17 of giving more weight to the more recent data? 17 sure | understood what was happening in the
18 MR. DOHERTY: 18 more recent eight yearsthan | did, as |

19 A.I’'msurel would characterize it that way. 19 mentioned earlier, on thefirst 12 years. |

20 JOHNSON, Q.C.: 20 could have done or had my analysts do more
21 Q. No, but would you agree with methat the 21 analysis on that to get a better fit for that

22 result of using thefive year and taking an 22 earlier 12-year period. We did not do that.

23 average of that subset of five year data 23 So | guessin terms of weight, in terms of our
24 within the ten years, it hasthe effect of 24 analytical focus, it was on the more recent
25 giving more weight to the recent data? 25 years because that’ s what was going to be used
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1 totake our ten years of accident data to a 1 particular event or series of events that
2 projected level, butl wouldn't say | gave 2 generated this change and we thought that that
3 more weight to that than | gave to the earlier 3 situation while it still existed over this
4 years. We did have more analytical focuson 4 eight-year period has now changed into
5 those periods though. 5 something else and therefore we would revert
6 JOHNSON, Q.C.: 6 back to atrend like we had before, it would
7 Q. Andinterms of your the more analytical focus 7 be important. We don’t see that as something.
8 being given to the’ 04 period, | mean, you're 8 We're not aware of anything that would cause
9 essentially looking at the eight years and in 9 any seismic changein our view from our
10 one of Ms. Elliott’s models, she’ s looking at 10 current eight-year period going forward, which
11 aten-year period. | mean, isthat what we're 11 iswhy we used that same trend from the eight-
12 really down to? Like you know, it must be -- 12 year period to continue on.  If we felt that
13 itcan't be ten. It's gotto beeight. | 13 something was going to change, then we would
14 mean, can reasonable people disagreeas to 14 reflect that in the future period.
15 whether it’s eight or ten? 15 JOHNSON, Q.C.:
16 MR. DOHERTY: 16 Q. Didyou haveinput in Facility’slast filing,
17 A. Absolutely. | think that it’s absolutely fine 17 last year’s Taxis filing? | presume you would
18 tolook atthedata. You al canlook at 18 have.
19 different -- the same data and then identify 19 MR. DOHERTY:
20 different periods where you think trends have 20 A.No, | -- well, only to the extent that
21 changed. 1I'm not certain as | understand the 21 management looks at the results, discusses it
22 analysisdone by Oliver Wyman that that was 22 with the actuary and then management makes a
23 the approach that they’ve taken because 23 determination on what proposal they want.
24 they’ ve done overlapping periods whereaswe've |24 JOHNSON, Q.C.:
25 -- when we do the analysis, we don’t overlap 25 Q. But what role were you playing last year then
Page 126 Page 128
1 periods. We put them all together that puts 1 when that -- when Facility’s application got
2 the pieces together but notin away that 2 filed for the Taxi filing?
3 overlaps. If wewant tolook at different 3 MR. DOHERTY:
4 periods, we would do adifferent model and 4 A.lwasin therole of discussing with Eckler
5 once we havea different model, then we 5 the results of their trend analysis for
6 compare the two modelsto seewhich onewe 6 discussion on what wetake forwardto the
7 thought best described the data. 7 actuarial committee. | wasin the discussion
8 JOHNSON, Q.C.: 8 with the actuarial committee with respect to
9 Q. lsitimportant at al -- you know, you put a 9 their final selections of trends. | discussed
10 fair bit of significance on something 10 with Eckler theresultsof their indication
11 happening in’04. Isit-- but you haven't 11 process with respect to Taxis. | discussed
12 really investigated what is causing it. You 12 with management the options that were
13 just observed something - 13 available to them on how they could apply for
14 MR. DOHERTY: 14 rate changes, if they should apply for rate
15 A. Correct. 15 changes, and a determination was made in the
16 JOHNSON, Q.C.: 16 application, but | did not strike any of the
17 Q. But from an actuarial standpoint and an 17 assumptions. | do not take ownership of that.
18 analytical standpoint, isit important to get 18 That was Mr. Pelley’ s work.
19 to the bottom of what brought about what 19 JOHNSON, Q.C.:
20 you're perceiving to be achangein ' 04? 20 Q.Okay. What titledid you hold when that
21 MR. DOHERTY: 21 application wasfiled with the Board last
22 A.ltwould beto theextent that we thought 22 year?
23 something had happened there that could be 23 MR. DOHERTY:
24 replicated sometime in the future. So, for 24  A.Thesame position | have now, Senior Vice-
25 instance, if we thought that there was a 25 President of Actuaria and CFo.
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1 JOHNSON, Q.C.: 1 Q Wadll, I mean, we are indeed looking at
2 Q. There's been discussion regarding the 2 commercial vehicle experience.
3 identification and then removal of outliers 3 MR. DOHERTY:
4 from dataand is it your suggestion, Mr. 4 A Weare.
5 Doherty, that an actuary is never able to 5 JOHNSON, Q.C.:
6 reasonably identify and remove outliers 6 Q. InNewfoundland. So, we'relookingat the
7 without a great deal of statistical analysis? 7 same experience?
8 Isthat what you’ re suggesting? 8 MR. DOHERTY:
9 MR. DOHERTY: 9 A.Yes
10 A.l wouldbe challenged to understand how you 10 JOHNSON, Q.C.:
11 can make a determination that | believe in the 11 Q. Okay. Asof December 31st, 20127
12 words of Oliver Wyman’s report exclude a data 12 MR. DOHERTY:
13 point because it'sasdtatistical outlier if 13 A Yes
14 you haven't done some sort of statistical 14 JOHNSON, Q.C.:
15 analysisto determine that it is an outlier. 15 Q. So, you would confirm with me or confirm to us
16 JOHNSON, Q.C.: 16 that the differencesin the trend selections
17 Q. Sofor you, | guessthe answer isthat an 17 are due to actuarial judgment rather than to
18 actuary would never be ableto identify and 18 differencesin the historical experience?
19 remove an outlier without going through the 19 MR. DOHERTY:
20 examination you discussed yesterday? 20 A.There may be some differences in the
21 MR. DOHERTY: 21 historical experience. The claim counts are
22 A.l wouldfind it challengingto understand 22 based on our assessment of the claim counts.
23 that, but it doesn't mean that they couldn’t 23 They are dightly different than the Oliver
24 doit. I wouldjust be chalenged. | would 24 Wyman ones. We use indemnity only. They’'re
25 just be challenged to understand how they came 25 using indemnity and expense. So | don’t know
Page 130 Page 132
1 to the determination that it was an outlier 1 to what degree those two things would drive
2 particularly if you're saying it's a 2 any change. | believethat if |did my
3 statistical outlier as | believe it is 3 analysisusing the exact same dataas Ms.
4 described in Oliver Wyman' s report. 4 Elliott there would till be differences. |
5 JOHNSON, Q.C.: 5 don't --1 can't tell youthe degree of
6 Q. But then you don't have an insight as to what 6 difference, if it would be larger or smaller
7 reasons they chose for excluding data points? 7 than what they are now.
8 MR. DOHERTY: 8 JOHNSON, Q.C.:
9 A. Other than how they describethem. They 9 Q. Butthere'sno -- | think in your report, the
10 described highs and lows based on percentages. 10 way you put it in terms of your non-inclusion
11 | do not determine that to be astatistical 11 of adjustment expense and just using indemnity
12 outlier, but maybe they have other statistical 12 and Oliver Wyman'sinclusion of those expenses
13 tests. | struggle with, if it's a statistical 13 is that you put it such that you have a
14 test, how can you apply it before you apply 14 suspicion that there may be an impact arising
15 your analysis. 15 from the inclusion or exclusion.
16 JOHNSON, Q.C.: 16 MR. DOHERTY:
17 Q. And there's obviously a major difference 17 A.l believe there may be, yes.
18 between the trends rates that Oliver Wyman 18 JOHNSON, Q.C.:
19 finds reasonable and the Board has approved 19 Q. Butthere’'sno evidenceinyour report that
20 and what Facility has put forward and just to 20 provides guidance one way or the other on
21 be clear, there’' s no question that we're not - 21 that?
22 - we are all looking at the same data? 22 MR. DOHERTY:
23 MR. DOHERTY: 23 A.No.
24 A.No, weare not looking at the same data. 24 JOHNSON, Q.C.:
25 JOHNSON, Q.C.: 25 Q. Just asuspicion?
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1 MR. DOHERTY: 1 JOHNSON, Q.C.:
2 A It'sjust asuspicion. 2 Q. And Oliver Wyman has indicated in their
3 JOHNSON, Q.C.: 3 report, as you' re aware and you' ve alluded to,
4 Q And it's not something that you have 4 that in their opinion using a 20-year period
5 investigated? 5 istoo long to serve as abasis for selecting
6 MR. DOHERTY: 6 trend rates that apply tothe '08 to 2012
7 A.No. 7 experience period. You saw what they said in
8 JOHNSON, Q.C.: 8 their report in that regard?
9 Q. Soin termsof thisoverarching concept of 9 MR. DOHERTY:
10 actuarial judgment in the trendsetting 10 A.Yes, | did seethat, yes.
1 business, first of al, selecting losstrend 11 JOHNSON, Q.C.:
12 rates, that's clearly amatter of actuarial 12 Q. And what’s your comment about the observation
13 judgment? 13 that, you know, that’s a bit of along period
14 MR. DOHERTY: 14 to be looking over in order to provide useful
15 A.Yes 15 guidance on selecting trend rates?
16 JOHNSON, Q.C.: 16 MR. DOHERTY:
17 Q. And| takeit whether to reflect seasonality 17 A. Thiscameup in severa of the questions, both
18 would be an exercise of actuarial judgment? 18 Oliver Wyman. | believe your group also had
19 MR. DOHERTY: 19 that sort of question. My comment isthat |
20  A.Yeah. 20 can exclude all those earlier periods. | will
21 JOHNSON, Q.C.: 21 get the sametrend rate onthat eight-year
22 Q. And whether to exclude certain historical data 22 period if | exclude the earlier 12 years. I'm
23 points would bean exercise of actuarial 23 not changing the slope of the linethat |
24 judgment? 24 picked after that. Thereason that we use a
25 MR. DOHERTY: 25 20-year period is becauseif thereis one
Page 134 Page 136
1 A Yes 1 trend over that 20-year period, you’ re going
2 (2200P.M.) 2 to get a better estimate of that trend if you
3 JOHNSON, Q.C.: 3 use all 40 data points as opposed to using
4 Q. And whether to give lessweight to certain 4 only the most recent 16 or 20 or 10 data
5 datapoints than others, that would be an 5 points. That’'s the nature of the statistical
6 exercise of actuarial judgment? 6 process that we go through. Using a 20-year
7 MR. DOHERTY: 7 period allows us not only to identify through
8 A Yes 8 statistical analysis areaswhere or periods
9 JOHNSON, Q.C.: 9 where potential trend rates have changed over
10 Q. Andhow many years of history you analyze, 10 that period, it also at times gives usinsight
11 that similarly would be an exercise of 11 into our ability to identify where things are
12 actuarial judgment? 12 changing and test for those. If you havea
13 MR. DOHERTY: 13 narrow view that you’re only going to look at
14 A Yes 14 --inmy opinion, look at ten-year periods,
15 JOHNSON, Q.C.: 15 the next time your last period drops off and
16 Q.| notethat you'veindicated that you usea 16 you got anew data period, if that earlier
17 regression analysisof industry commercial 17 period now -- if there was a change in period
18 vehicle expense over a20-year period, from 18 that was fiveyearsand fiveyears, asyou
19 1993to 2012. Isthat use of the 20-year 19 move through it, your initial five-year period
20 period, isthat a new addition to the way that 20 gets smaller and smaller and you're going to
21 the FA goes about itstrend analysis? 21 lose your ability to actually identify that as
22 MR. DOHERTY: 22 a separate period and it’ s going to become now
23 A. | honestly can't recall if Eckler or KPMG -- | 23 part of your current period where it may not
24 can't recall what periods, how far back they 24 necessarily be appropriate to have that. So
25 went. I'msorry, | don't recall. 25 we prefer to have a longer period to avoid
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1 that kind of bias that may work itsway in if 1 difference between the loss trendsis the
2 you're looking at shorter periods. 2 experience period over which the trends are
3 JOHNSON, Q.C.: 3 selected. Oliver Wyman usesthreeto five
4 Q. The Nova Scotia Board, as we discussed briefly 4 years of experience while Facility goes back
5 earlier, hasissued a couple of decisions and 5 t0 1990, 20 years. Facility arguesthat the
6 if we could bring up the first of these. 6 longer term isinherently more stable. That
7 MS. GLYNN: 7 may betrue, but the Board staff stateit is
8 Q. They need to be entered as well. 8 also less responsive to changes.” And they go
9 JOHNSON, Q.C.: 9 onto say at paragraph 22 that "in the past,
10 Q. Okay. 10 the Board has selected the shorter time
11 MS. GLYNN: 11 horizon as opposed to that used in
12 Q. The September one first? 12 applications made by Facility. Despite the
13 JOHNSON, Q.C.: 13 potential future instability, Board staff
14 Q. Or the October one, if you would. 14 recommends the use of the Oliver Wyman
15 MS. GLYNN: 15 selected trends for the purpose of developing
16 Q. October, okay. Sothe October decision will 16 indications against which to judge the
17 now be Information Item No. 2 and the 17 appropriateness of Facility’ s approval." So
18 September decision will now be Information No. |18 the Board accepted the ow trends. And | take
19 3. W¢€l circulate an updated list after, 19 it then from that, | understand that Oliver or
20 later this evening. 20 Facility hasa track record of using longer
21 JOHNSON, Q.C.: 21 periods than at least the Nova Scotia
22 Q. Thank you. I'm referring to the recent 22 regulator feels comfortable with.
23 decision of the Nova Scotia Board of October 23 MR. DOHERTY:
24 23rd in the matter of a Facility application, 24 A.And | would characterize it the same way. The
25 and as | understand it, this is for 25 viewpoint seems to bethat by using the 20
Page 138 Page 140
1 miscellaneous vehicles. 1 years we're using a trend that spans 20 years,
2 MR. DOHERTY: 2 whichisnot the case. Andagain, we could
3 A.l believe the first one was a private 3 lop off -- we could exclude al the earlier
4 passenger, but I might be on the wrong one. 4 data. We'renot goingto do that just to
5 JOHNSON, Q.C.: 5 satisfy somebody’s view that, you know,
6 Q. I’'mon the October one. 6 including it is somehow biasing our decision.
7 MR. DOHERTY: 7 Inthiscasg, if | use eight years, | get the
8 A. Okay, sorry. 8 exact sametrend rate and the same thing
9 JOHNSON, Q.C.: 9 occurred in Nova Scotia, so you know, | can
10 Q. Okay. Do you havethat one? 10 put my blinders on and pretend that that
11 MR. DOHERTY: 11 initial ten-year period didn’t happen, but it
12 A Yes 12 did and why would I throw away good data?
13 JOHNSON, Q.C.: 13 JOHNSON, Q.C.:
14 Q. Okay. And I note at paragraph 20 - 14 Q. And I guessyou'll confirm that they similarly
15 MR. DOHERTY: 15 viewed a concern about the 20-year analysis
16 A Yeah 16 period in the private passenger decisionin
17 JOHNSON, Q.C.: 17 September?
18 Q. -the Board remarks that "the Oliver Wyman 18 MR. DOHERTY:
19 selections produced much lower indicated 19 A. Correct, yes.
20 changes. It'sdifficult to determineif the 20 JOHNSON, Q.C.:
21 lower indicated changes are caused by the ow 21 Q.Whichisat-- and | won’'t bring you toit,
22 use of 'indemnity plus ALAE asopposed to 22 butit’s, I think, Information No. 3.
23 Facility’ suse of indemnity only data or by 23 MS. GLYNN:
24 the longer time frame used by Facility. Board 24 Q.3
25 staff believe that the major reason for the 25 JOHNSON, Q.C.:
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1 Q. Yeah, okay. I'll probably revisit trend with 1 that -
2 you tomorrow but for the remaining time, | 2 MR. DOHERTY:
3 just wanted to talk about a couple of items 3 A That sounds about right. | don’'t havethe
4 that | think could comfortably be dealt with 4 figuresin front of me.
5 in the timeremaining. The Facility standard 5 JOHNSON, Q.C.:
6 of full credibility which affects third party 6 Q. Subject to change.
7 liability only, I think asyou’ ve explained, 7 MR. DOHERTY:
8 in 2013 you used 5410 claims. I'm sorry if 8 A. Yeah
9 I”’m not using the right terminology. 1n 2013, 9 (215P.M.)
10 you used alarger figure for the standard of 10 JOHNSON, Q.C.:
11 credibility for third party liability? 11 Q. Okay, and | takeit, you are familiar with the
12 MR. DOHERTY: 12 fact that the Board in its order arising out
13  A.Yes. Mr. Pelley used alarger -- 5410 | 13 of that proceeding which was Order Number Al-
14 believe was the number. 14 9, 2013, indicated that it was not in
15 JOHNSON, Q.C.: 15 agreement with the Facility’s selected loss
16 Q. Andsothat - it wasn't amistake last time, 16 trend rates or its return on investment income
17 it was a conscious choice of Mr. Pelley to use 17 assumptions, right?
18 alarger number? 18 MR. DOHERTY:
19 MR. DOHERTY: 19  A. Correct.
20  A.Yes itwas 20 JOHNSON, Q.C.:
21 JOHNSON, Q.C.: 21 Q. Now Oliver Wyman tells usin their report that
22 Q. Okay, and, | guess, it does have a bearing on 22 in this application Facility is adjusting its
23 the indicated rate for third party liability, 23 target loss ratio for rate inadequacy, that
24 | takeit? 24 Facility believes exists due to the difference
25 MR. DOHERTY: 25 between its prior application’s rate
Page 142 Page 144
1 A.Yes, itdoes. 1 indication compared to the rate change
2 JOHNSON, Q.C.: 2 approved by the Board, and that’ s correct?
3 Q. Yeah,andif you had used - I'll get youto 3 MR. DOHERTY:
4 confirm that Oliver Wyman indicatesin their 4 A lsthat aquote? | just want to make surel
5 report that if you were to have used the same 5 understand the idea of thetarget - because
6 standard as Mr. Pelley used in the last 6 we're not changing our target.
7 application, and no other changes and 7 JOHNSON, Q.C.:
8 assumptions, that the rate indication for 8 Q. Youreadjusting your target loss ratio for
9 third party liability would decrease by 9 rate inadequacy?
10 something like 7 percent? 10 MR. DOHERTY:
11 MR. DOHERTY: 11 A. No, we haven't -
12 A. That'scorrect. 12 JOHNSON, Q.C.:
13 JOHNSON, Q.C.: 13  Q.No?
14 Q. You can confirm that, okay, and so would the 14 MR. DOHERTY:
15 use of the same standard aslast year, would 15 A.Wehaven't adjusted our target - I'm ahit
16 that be acceptable actuarial judgment this 16 confused by the language. Maybe | could -
17 time around? 17 JOHNSON, Q.C.:
18 MR. DOHERTY: 18 Q. Go ahead, that’sfine.
19 A.Yes 19 MR. DOHERTY:
20 JOHNSON, Q.C.: 20 A.Theway | understand it, we have really two
21 Q. Asregardsthe complement of credibility, my 21 choices, as| understandit. It's the same
22 understanding of the January 2013 application 22 two choices we would have, asl talked about
23 isthat Facility estimated that its rate level 23 earlier. If wehad a rate filing within the
24 change needed to be 70.7 percent, but proposed 24 most recent - if we haven't had aratefiling
25 arate changeoveral of 51.1 percent. Is 25 in twoto threeyears, we start with the
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1 assumption that our expiring rates are 1 instance, your return on investment parameter,
2 adequate, and | believe that’ s the position as 2 and I’'m trying to square that?
3 onefull credibility complement. The other 3 MR. DOHERTY:
4 oneis - the other position we take isthat if 4 A.Yeah, and sol would characterize it as -
5 we havea recent filing and there was a 5 there' stwo areas of consistency. Our view of
6 difference between what was approved and what 6 consistency is our position is that it's
7 the indicated was, we would recognize the 7 consistent with your prior one, and the PUB’s
8 difference between those two. | think that’s 8 position - again there’s- | believethere’ s a
9 what they’'re getting at. 9 little bit of deficiency even when they did
10 JOHNSON, Q.C.: 10 their adjustments, but let’s assume that the
11 Q. Okay, and, | guess, you'd agree with me that 11 Order was that you do this, and your rates are
12 in order to accept your adjustment, or call it 12 adequate. So there arethose two different
13 what you will for rate inadegquacy, that we 13 positions. The latter one would be consistent
14 would also have to necessarily accept that FA 14 with the puB’'sdecision and their rationale
15 2013 Applicationrate indication was also 15 for their decision, absolutely.
16 appropriate? 16 JOHNSON, Q.C.:
17 MR. DOHERTY: 17 Q. Butif we were-1 takeit, the premiseis
18  A. Yeah, | think even when we did adjustments, | 18 that you're here to say that your last rate
19 think there was alittle bit of not - if you 19 indication was appropriate?
20 think about the third party liability - I'm 20 MR. DOHERTY:
21 going off memory hereand | could bewrong, 21  A.Based on more current data, I’d say it wasn'’t
22 but we proposed a 50 percent. Our indication 22 appropriate, it wasn’t high enough, but at the
23 was higher than that. We did anumber of 23 time - and our approach istheindication we
24 changes to assumptions as per request, and it 24 had last time was higher than we got,
25 came ina little bit higher than the 50 25 therefore, thereis some deficiency still in
Page 146 Page 148
1 percent. 1 our rates that we need to start reflecting
2 JOHNSON, Q.C.: 2 with, and then usethat asthe basis going
3 Q.Yes 3 forward.
4 MR. DOHERTY: 4 JOHNSON, Q.C.:
5 A.Andso the50 percent was fine. So there 5 Q. Okay, so, like - and I’m trying to understand
6 might have been alittle bit, but | - let’'s 6 what we then end up doing with the Board’s
7 assumethat the other one that we would be 7 Order from just last year. | mean, arewe
8 starting with isassuming rates that are 8 basically saying do we ignore the Board Order
9 expiring are adequate. 9 and say, look, notwithstanding that, and
10 JOHNSON, Q.C.: 10 notwithstanding the Board having reviewed the
11 Q. But, I guess, what | was getting at isthat as 11 matter and stated that it disagreed with
12 | understood the concept of rate inadequacy, 12 Facility on trend and disagreed with Facility
13 you're saying that something should be done 13 on return on income, that we are now going to
14 about the difference between your prior 14 assume that the 2013 FA rate indication was
15 application’ s rate indication compared to the 15 correct? Isthat what we must do?
16 rate change approved by the Board, and it just 16 MR. DOHERTY:
17 seemed to me that in order for us to accept 17 A. My understanding is that's the Board's
18 the concept of rate inadequacy, which hasa 18 decision. | determine the rate level based on
19 bearing on the rate request in this case, that 19 my assessment of the processthat we have,
20 we would have to also accept that FA’s 2013 20 including what | believeis rate deficiency
21 Application’ s rate indication was appropriate, 21 coming forward. If the Board chooses a set of
22 and I’'m wondering how we square that with the 22 assumptions that they think isapplicable, |
23 Board' s Order in 2013 saying that, look, we do 23 will certainly tell them what the indication
24 not accept your trend selection, and we have 24 based on that is, and they can make themselves
25 difficulty with and do not accept, for 25 consistent with their view of whether or not
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1 therate level changethat we got last time 1 JOHNSON, Q.C.:
2 brought our rates to adequacy. The indication 2 Q. S0, like, istherea number, like, would you
3 that we have is my work product based on my 3 haveto stay out two years before you would
4 assumptions. Y ou know, if I’'m ordered to show 4 assume rate adequacy? Isit three years, you
5 an indication based on alternate set of 5 know -
6 assumptions, | do that, just asif you asked 6 MR. DOHERTY:
7 for different sets, 1’1l show you what those 7  A.ltdoesvary, but it'sgeneraly in that ball
8 results are, but my own personal view is 8 park.
9 supported by the indication bringing forward a 9 JOHNSON, Q.C.:
10 rate inadequacy into our current review. 10 Q. Sotwo years, three years?
11 JOHNSON, Q.C.: 11 MR. DOHERTY:
12 Q. So just- if the Board, having heard and 12 A. Two to three years, yeah.
13 determined this application in November, 2014, 13 JOHNSON, Q.C.:
14 were to determine that FA’s trend selection, 14 Q. Sofour years, and you'd assume that they’re
15 for example, was inappropriate, or some other 15 adequate?
16 element of your application was inappropriate, 16 MR. DOHERTY:
17 and thereby take issue with FA's rate 17 A.Yeah, | would assumethat after four years,
18 indication, in next year’'s Facility 18 becausewe do annual reviews, that if the
19 Application, if there were to be one, would FA 19 Facility Association has decided not to file
20 again then make an adjustment for what it 20 rates, they did it for certain reasons, and
21 deemed to be rate inadequacy? Isthat how it 21 after four years wedon’t think it would be
22 would continue to go? 22 appropriate to go in to a regulatory
23 MR. DOHERTY: 23 application saying, by the way, we think our
24 A.Yes. 24 rates - we' re starting off assuming our rates
25 JOHNSON, Q.C.: 25 are deficient, and we have some more
Page 150 Page 152
1 Q. Okay, dl right, and | understand that FA has 1 experience telling us they’'re even more
2 apolicy, if it hasnot recently filed for a 2 deficient or not, we don’t think that that’s a
3 rate change, you would assume that the current 3 fair position to take because we haven't
4 rates are adequate? 4 shared the analysisin that interim period.
5 MR. DOHERTY: 5 If we just sentinformation inevery year
6 A.lt'snot -1 wouldn't characterizeit asa 6 saying we not going to change our rates, we
7 policy. It'sa guideto our process when 7 just want you to see that we think our rates
8 we're looking at how we start, yes. 8 are deficient, they’' re getting more deficient,
9 JOHNSON, Q.C.: 9 and now we' ve decided to do something about
10 Q. Okay, and - 10 it, | think that’s an awkward position to put
11 MR. DOHERTY: 11 the position in.
12 A.Andthe rationalefor that iswe recognize 12 JOHNSON, Q.C.:
13 that when we submit an application, if it's 13 Q. So annually, you review Facility’s rates,
14 been along time and we say we didn’t share it 14 including the taxi rates in Newfoundland and
15 with you last year, but we did oneand it 15 Labrador?
16 showed some rate inadequacy or deficiency and 16 MR. DOHERTY:
17 we're bringing that forward, it’s not really 17 A.That hasnot been the historical process.
18 fair to the regulator because we didn’t share 18 Generally, the historical process has been
19 with them that analysis. 19 that private passenger, commercial, and inter-
20 JOHNSON, Q.C.: 20 urban rates were reviewed annually for each
21 Q. Okay. 21 jurisdiction. In recent times, they aso
22 MR. DOHERTY: 22 added a second review for Ontario and Alberta
23 A. So at some point wejust say, you know, we're 23 private passenger. Miscellaneous vehicles and
24 starting fresh, we assume the rates were 24 recreational vehicles historically were only
25 adequate. 25 reviewed every two years, aternating between
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1 public and recreational. When we took over 1 JOHNSON, Q.C.:

2 internally the review process, effectively the 2  Q Andl takeitthat there'sno debate, that

3 whole process in 2013 with ajurisdiction, we 3 certainly thereisa significant rate impact

4 annual review all classes of business. So 4 or arate - yeah, rate impact is the right way

5 going forward, we review all classesfor every 5 to put it, from FA’srequest to have rate

6 jurisdiction annually, but that has not been 6 inadequacy reflected?

7 the historical practice. 7 MR. DOHERTY:

8 JOHNSON, Q.C.: 8 A. Correct.

9 Q.| takeit that there was arate review that 9 JOHNSON, Q.C.:
10 led to the application of last year for new 10 Q. And Itake it, would you be prepared to
11 taxi rates? 11 confirm, subject to check, that your indicated
12 MR. DOHERTY: 12 rate level change, if you just removed the
13 A Yes 13 rate inadequacy piece, but kept everything
14 JOHNSON, Q.C.: 14 else there, would decline about 24 percent on
15 Q. Andto your knowledge, when wasthe previous |15 an overall basis?
16 time that the taxi rates had been reviewed? 16 MR. DOHERTY:
17 MR. DOHERTY: 17 A. Yeah, that's about right, yeah.
18  A.l don't know if it was the year before or two 18 JOHNSON, Q.C.:
19 yearsbefore. | kind of think it was two 19 Q. Okay, and the Nova Scotia Board, | understand,
20 years before, but | can’t be certain on that. 20 and perhapswe could take that decision up,
21 | believe Newfoundland taxi rates were 21 the September 22nd decision. That would be -
22 reviewed more often because they were 22 it'slisted at Item 1 on that.
23 significantly deemed as being inadequate, but 23 MS. GLYNN:
24 management did not - the Board of Directors 24 Q. Yeah, but because they weren't entered at the
25 did not approve arate filing based on those 25 beginning, we're now entering them aswe go.

Page 154 Page 156

1 analyses, which iswhy - well, the 2013 filing 1 It's number 3 now.

2 was based on a previous methodology wherethey | 2 JOHNSON, Q.C.:

3 aways assume that regardless of what 3 Q. Okay. If lIcould -1 think therewas a

4 happened, they would revert back for public 4 discussion in that decision, Mr. Doherty, of

5 and miscellaneous, and again we' ve changed the 5 the Nova Scotia Board's views on rate

6 process so it’ s the same across all classes of 6 inadequacy.

7 business for al jurisdictions. | can 7 MR. DOHERTY:

8 certainly do an undertaking to determine 8 A Yes

9 exactly what rate reviews were completed over 9 JOHNSON, Q.C.:
10 thelast ten yearsand what the results of 10 Q. Andl takeit that smilarly -
11 those rate reviews were, and whether or not 11 MR. DOHERTY:
12 they were taken to the Board of Directors and 12 A.| believeit's starting at number 32. | think
13 what the Board of Directors decisions were 13 it's on page 10 of the document.
14 with respect to an application based on those 14 JOHNSON, Q.C.:
15 indications. 15 Q. Paragraph 32?
16 JOHNSON, Q.C.: 16 MR. DOHERTY:
17 Q. That would befine, yeah. 17  A.Yes, | believe so.
18 MR. DOHERTY: 18 JOHNSON, Q.C.:
19  A. How far back do you want meto - 19 Q. They indicate that FA took the position that
20 JOHNSON, Q.C.: 20 there was rate inadequacy resulting from the
21 Q. Wadll, you said tenyears. | think you said 21 time of itslast application before the Board.
22 ten years. 22 At the time, the Board did not accept the
23 MR. DOHERTY: 23 indicated rate level change, instead accepting
24  A.lcantry tenyears, but I’'m sure | can do at 24 a greater decrease as more reasonable and
25 least eight, but I' [l try for ten. 25 ordering it be used, etc. So similarly, the
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1 Board was asked in Nova Scotiato entertain a 1 counsel, but | think an extra half an hour in
2 rate inadequacy argument from Facility? 2 the morning would be -
3 MR. DOHERTY: 3 CHAIRMAN:
4 A. That'scorrect. 4 Q. 9:30.
5 JOHNSON, Q.C.: 5 STAMP, Q.C.:
6 Q.Butitdeclinedit. Thisapplication in that 6 Q. My preference, Mr. Chairman, for what it's
7 matter, it was in respect of private passenger 7 worth, is to start at 9 o’clock. We have
8 vehiclesin Nova Scotia, and that application 8 tomorrow set aside for this. 1'd liketo do
9 was filed, | understand it, on or about March 9 asmuch as we possibly can, and I'd like to
10 5th, 2014. 10 see whether we can finish with Mr. Doherty and
11 MR. DOHERTY: 11 start and move some distance into Ms. Elliott.
12 A. That sounds about right, yeah. 12 MS. GLYNN:
13 JOHNSON, Q.C.: 13 Q. We have no intention of putting Ms. Elliott on
14 Q. Socloseto when this application was being 14 the stand tomorrow unless we have avery large
15 filed? 15 chunk of time left, and the way this has been
16 MR. DOHERTY: 16 going, | don’t think that’s going to happen.
17 A. That'scorrect, yes. 17 A half hour in the morning, | don’t think is
18 JOHNSON, Q.C.: 18 goingto bea detriment to anybody. 1'll
19 Q. Andprior tothat, when had beenthe last 19 |eave that to the Board.
20 application to the Nova Scotia Board for 20 CHAIRMAN:
21 private passenger? 21 Q.Youlose. I think we'll start at 9:30.
22 MR. DOHERTY: 22 (UPON CONCLUDING AT 2:30P.M.)
23 A.l can't say off the top of my head.
24 JOHNSON, Q.C.:
25 Q. Could you check that as well and undertake to
Page 158 Page 160
1 let us know when the prior application was 1 CERTIFICATE
2 filed with the Board? 2 1, Judy Moss, hereby certify that the foregoing is atrue
3 MR.DOHERTY: 3 and correct transcript inthe matter of a Facility
4  A.NovaScotiaPuB? 4 Association Application re; Taxi and Limousine Automobile
5 JOHNSON, Q.C.: 5 Insurance Rates heard on the 6th day of November, 2014
6 Q.Yes. 6 before the Board of Commissioners of Public Utilities,
7 MR. DOHERTY: 7 120 Torbay Road, St. John's, Newfoundland and L abrador
8 A. Certainly, yes. 8 and was transcribed by me to the best of my ability by
9 JOHNSON, Q.C.: 9 means of a sound apparatus.
10 Q. Mr. Chairman, Commissioners, | don't think 10 Dated at St. John's, Newfoundland and L abrador
11 that within the fifteen minutes remaining it 11 this 6th day of November, A.D., 2014
12 makes much sense for meto get into another 12 Judy Moss
13 topic, soif it pleasesthe Board, we could
14 convene tomorrow and | could continue on.
15 CHAIRMAN:
16 Q.| don't think there’'s a problem with that.
17 JOHNSON, Q.C.:
18 Q. Okay, thank you.
19 CHAIRMAN:
20 Q.Weare adjourned until tomorrow at - what
21 time, 9:30?
22 MS. GLYNN:
23 Q. Wehad discussed 9, but | wonder with the
24 delay in thetranscript, if maybewe could
25 start at 9:30. | hadn’t discussed that with
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